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(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
1) g§»¶m Am{U dU©‘m{bH$m
2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
3) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
5) ~¡R>H$ d ‘m§S>Ur ì`dñWm
6) ZmVog§~§Y
7) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ

A§H$J{UV -
8) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
10) Q> o̧$dmar, ^mJrXmar, gamgar, g§̂ mì`Vm
11) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
12) doi Am{U A§Va, aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
13) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
14) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
15) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m
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‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

Gr B & C Combined Preliminary Examination - 100 Points

100 ‘hÎdmMo ‘wÔo : gm‘mÝ¶ j‘Vm MmMUr nona

(1)AmYw{ZH$ ^maVmMm {deofV… ‘hmamḯ>mMm B{Vhmg
1) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
2) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
3) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
4) gm‘m{OH$ Ym{‘©H$ gwYmaUm
5) {ejU Am{U àog
6) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
7) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
8) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
9) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd
10) ñdmV§Í¶ Midi - H$m±J«og, ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
11) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm
12) H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
13) ‘wpñb‘ brJ Am{U ’$miUr
14) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m
15) g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV

History of Modern India especially of Maharashtra (15)
1) Europeans & Anglo - British Wars

2) British Administration - Role of GGs & viceroys

3) Constitutional and reform Acts, laws during British Rule

4) Sociorelegious reforms

5) Education & Press

6) Economic Impact of British rule

7) Rise of nationalism & political organisations

8) Militant Nationalism

9) Congress Party - Founders, Sessions, Resolutions

10) Freedom movement - Congress, Swadeshi, Noncoopeartion, Civil Disobedience, Quit India

11) Farmers agitation and agricultural reforms

12) Labour movements & Trade Unions

13) Muslim League & partition

14) Independence & related issues

15) Samyukt Maharashtra Movement
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(2) ŷJmoc (‘hmamḯ>mÀ¶m ŷJmocmÀ¶m {deof Aä¶mgmgh)
* n¥Ïdr, OJmVrc {d^mJ, hdm‘mZ, Ajm§e-aoIm§e, ‘hmamḯ>mVrc O{‘ZrMo àH$ma, nO©Ý¶‘mZ, à‘wI {nHo$, ehao, ZÚm,

CÚmoJY§Xo BË¶mXr.
16) n¥Ïdr - gỳ ©‘mbm
17) Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi
18) ŷH§$n Am{U Ádmbm‘wIr, IS>H$, ^m¡Jmo{bH$ d¡{eï²> ò
19) OmJ{VH$ {d^mJ - nd©V,
20) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
21) nO©Ý¶‘mZ
22) ZÚm - YaUo Am{U àH$ën
23) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
24) dZo Am{U dZñnVr - n`m©daU
25)  ‘hmamï´>mVrb O{‘ZrMo àH$ma
26) à‘wI {nHo$ - eoVr
27) ehao
28) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
29) CÚmoJ
30) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

Geography with special study of Geography of Maharashtra (15)
16) Earth - Solar System

17) Latitude and longitude - Standard & Local Time

18) Earthquakes & Volcanoes, Rocks, Geographical Features

19) World divisions - Mountains,

20) Climate - Atmosphere, Winds & Ocean Currents

21) Rainfall

22) Rivers - dams & projects

23) Physical geography - Mountains, Planes, Plateau, Desert, Coastal areas, Islands

24) Forestry - Vegetation & Environment

25) Soil types in Maharashtra

26) Major crops - Agriculture

27) Cities

28) Economic Geography - Minerals and Energy Resources, Transport & Tourism

29) Industries

30) Political Geography - Population, Languages, Tribes and Races, Locations & Boundaries

(3) ZmJ[aH$emó
* ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg, amÁ¶ ì¶dñWmnZ (àemgZ), J«m‘ ì¶dñWmnZ (àemgZ)
31) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
32) àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
33) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r
34) KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io
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35) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr
36) Ý`m`nm{bH$m
37) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
38) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr
39) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
40) {Oëhm àemgZ

Civics (10)
31) Constituent Assembly, Sources, Committees, Symbols

32) Preamble, Salient & Basic features, articles

33) FRs, DPs, FDs

34) Amendments,Commissions and Boards

35) Centre - State relations, New States

36) Judiciary & Indian Union

37) State Government and Administration - Executive, Legislature

38) Evolution of LSG, 73rd & 74th Amendment

39) Grampanchayat, Taluka Panchayat, Zilla Parishad & Rural development

40) District Administration

(4) AW©ì¶dñWm
* ^maVr¶ AW©ì¶dñWm-amï´>r¶ CËnÞ, eoVr, CÚmoJ, naH$s¶ ì¶mnma, ~±qH$J, cmoH$g§»¶m, Xm[aÐç d ~oamoOJmar, ‘wÐm

Am{U amOH$mofr¶ ZrVr, emgH$s¶ AW©ì¶dñWm-AW©g§H$ën, coIm, coImnarjU
41) amï´>r` CËnÞ - OrìhrE, OrS>rnr
42) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU
43) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
44) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ
45) Am{W©H$ gwYmaUm - joÌr` dmT>, EgS>rOr, ‘°H«$mo BH$m°Zm°{‘Šg
46) {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm
47) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
48) bmoH$g§»`m - bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
49) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘
50) amoOJma {Z{‘©Vr H$m ©̀H«$‘
51) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V
52) Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb
53) AW©g§H$ën
54) gmd©O{ZH$ IM©
55) boIm Am{U boImnarjU

Economy - Indian Economy & Government Economy (15)
41) National Income - GDP, GVA,

42) Inflation - causes, effects, control, measures

43) Agriculture - Rural Development & Co-operative sector

44) Industry - Infrastructure and Services Sector
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45) Economic reforms - Sectoral growth, MDG, SDG, Macro Economics

46) Foreign Trade - Volume, direction & structure

47) Banking - Credit and Monitory policies

48) Population - Demographic cycle, Population Policies

49) Poverty - Concepts, Measurement and estimates of poverty, Alleviation programs

50) Employment Generation programs -

51) Development Programs - with respect to women, children, senior citzens

52) Monetary and Fiscal Policies - Taxes

53) Budget

54) Public Expenditure

55) Accounts & Audit

(5) gm‘mÝ¶ {dkmZ
* ^m¡{VH$emó ({’${O³g), agm¶Zemó (Ho${‘ñQ´>r), àm{Uemó (Pycm°Or), dZñn{Vemó (~m°Q>Zr), Amamo½¶emó

(hm¶OrZ)
* ̂ m¡{VH$emó ({’${O³g)

56) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
57) {dÚwVemó, Mw§~H$Ëd
58) AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

* agm¶Zemó (Ho${‘ñQ́>r)
59) AmdV© gmaUr - YmVy Am{U AYmVy
60) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
61) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

* àm{Uemó (Pycm°Or)
62) noer{dkmZ d M¶mnM¶Z
63) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
64) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

* dZñn{Vemó (~m°Q>Zr)
65) dZñnVtMo dJuH$aU Am{U CXmhaUo
66) H¥$fr{dkmZ d dZemó
67) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

* Amamo½¶emó (hm¶OrZ)
68)  ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
69) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
70) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

General Science (15)
56) Dynamics, Heat, Waves - Light, Sound, EM spectrum

57) Electricity, Magnetism,

58) Nuclear science, Astronomy & Space science

59) Periodic Table - metals & nonmetals

60) Chemical reactions - acids, bases, compounds
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61) Organic chemistry - hydrocarbons, insecticides, Fuels, Gases, Fertilisers

62) Classification of animals and examples

63) Anatomy and Physiology wrt animal body

64) Useful and Harmful animals - Animal Husbandry, Dairy, Poultry

65) Classification of plants and examples

66) Anatomy and Physiology wrt plants

67) Useful and Harmful plants - Horticulture and floriculture

68) Human body system - CNS, CVS, GIT, Musculoskeletal, endocrine, Excretory

69) Health & Diseases - vectors, agents, diagnosis , treatmet & programs

70) Food and Nutrition -Macro, micro, minerals, vitamins

(6) Mmcy KS>m‘moS>r (15)
* Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ̂ maVmVrc

* amOH$s¶ KQ>Zm
71) OmJ{VH$ g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo

* Am{W©H$ d {dÎmr¶ KQ>Zm
73) OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, CÚmoJ, nm¶m ŷV joÌmVrb KQ>Zm
74) AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar

* d¡km{ZH$ KQ>Zm
75) D$Om© V§ÌkmZ d AmpÊdH$ àH$ën,Amm¶grQ>r, AdH$me{dkmZ
76) d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

* gm‘m{OH$ d e¡j{UH$ KQ>Zm
77) gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm
78) e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

79) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ŷJmob, n¶m©daU n[afXm, g§dY©Z, H$m¶Xo,
AmnÎmrì¶dñWmnZ

80) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
81) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ
82) H«$sS>m{df¶H$ KQ>Zm - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, nwañH$ma d gÝ‘mZ, àH$mePmoVmVrb IoimSy> d à{ejH$
83) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$
84) gm{hpË¶H$ KQ>Zm - àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘
85) gm‘mÝ¶kmZ - ‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘
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Current Affairs (15)
* Political events

71) World Organization, International Relations, Human Rights Events, Defense Events

72) National Political Events - Elections, Administration, Judicial Results, Commissions, Laws and

Amendments, Agitations

* Economic and financial events

73) Global economic developments, foreign trade, industry and infrastructure developments

74) Budget & Public Finance, Banking & Finance, Agriculture & Rural Development, Poverty &

Unemployment

* Current events wrt Science & Technology

75) Energy Technology and Nuclear Projects, ICT, Space Science

76) Scientific institutes and researchers, biotechnology, pathology

* Social and educational events

77) Social security initiatives and inclusiveness

78) Events in education and health sector, job creation and skill development

79) Geographical and Environmental Events - Lights, Political Geography, Environmental Councils,

Conservation, Laws, Disaster Management

80) Appointment, appointment and person in the spotlight

81) Prizes, awards and honors

82) Sports Events - Sports Competitions, Athletes Performance, Awards & Honors, Light Players &

Coaches

83) Cultural and Tourism Events - music and dance, movies, travel, institutions and monuments

84) Literary Events - Books and Writers in Prakashjota, Marathi Sahitya Sammelan and other activities

85) General Knowledge - Important days and years, first of all, the biggest / smallest, historical

events

(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
86) g§»¶m Am{U dU©‘m{bH$m
87) gm§Ho${VH$ ̂ mfm, gmå¶, VwbZm, dJuH$aU
88) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
89) {dYmZo Am{U ̀ w{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
90) ~¡R>H$ d ‘m§S>Ur ì`dñWm
91) ZmVog§~§Y
92) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
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A§H$J{UV -
93) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
94) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
95) Q> o̧$dmar, ̂ mJrXmar, gamgar, g§̂ mì`Vm
96) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
97) doi Am{U A§Va, aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
98) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
99) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
100) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m

Mental Ability test and Arithmetic (15)

General Mental Ability (7)
86) Sequence and series

87) Coding-decoding, Analogy, Comparisons, Classifications

88) Machine input & Symbols

89) Syllogism, Judgements, Drawing inference, Statements - Arguments and Conclusion

90) Sitting arrangement

91) Blood relations, Ranking Test, Comparison

92) Qs on figures

i. Construction of squares and triangles

ii. Series

iii. Completion of incomplete pattern

iv.Analogy, Group of Identical Figures

v. Classification, Odd figures or Odd man out

vi.Mirror-image, Water-image

vii. Paper folding, Paper cutting, Dot situation

viii. Spotting out the embedded figures

ix.Cubes and dice

x. Figure matrix

Arithmatics (8)
93) Number system - HCF and LCM, Square roots and cube roots, Surd and indices

94) Addition, Substarction, Multiplication, Division and Simplification, Decimal Fractions

95) Percentage, Partnership & investment, Average , Probability, Permutation Combination

96) Ratio and Proportion, Mixtures &Alligation, Chain Rule

97) Time and Distance, Trains, Boat and Stream, Time and Work, Pipe & Cistern

98) Profit and Losses, Sale & purchase, Discount , Simple and Compound Interest

99) Mensuration & Geometry - Areas, Volume and Surface Areas

100) Problems on Clock, Calendars, Ages, Directions, Locations and Positions, Venn diagrams
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(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
1) g§»¶m Am{U dU©‘m{bH$m
2) gm§Ho${VH$ ̂ mfm, gmå¶, VwbZm, dJuH$aU
3) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZo Am{U ̀ w{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
5) ~¡R>H$ d ‘m§S>Ur ì`dñWm
6) ZmVog§~§Y
7) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ

A§H$J{UV -
8) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
10) Q> o̧$dmar, ̂ mJrXmar, gamgar, g§̂ mì`Vm
11) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
12) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
13) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
14) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
15) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m

1) g§»¶m Am{U dU©‘m{bH$m
1) nwT>rb g§»¶m‘m{bHo$V H«$‘mZo ¶oUmar g§»¶m H$moUVr ?

2, 3, 8, 27, 112, .............
1) 226 2) 339 4) 565 4) 502

1) What is the consecutive number in the following series of numbers?

2, 3, 8, 27, 112, .............

1) 226 2) 339 4) 565 4) 502

2) {Xboë¶m n¶m©¶m§‘YyZ àíZ{MÝhmÀ¶m OmJr ¶mo½¶ g§»¶m emoYm d g§»¶m ‘m{bH$m nyU© H$am.
52, 26, 78, 39, 117, ?
1) 78.5 2) 58.5 3) 105.5 4) 78

2) Find the correct number in place of question mark from the given alternatives and complete the

number series.

52, 26, 78, 39, 117, ?

1) 78.5 2) 58.5 3) 105.5 4) 78
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3) àíZ{MÝhmÀ¶m OmJr H$moUVr g§»¶m ¶oB©b Vo emoYm.
5, 19, 61, 187, ?
1) 289 2) 397 3) 491 4) 565

3) Find out the numbers which replaces the question mark.

5, 19, 61, 187, ?

1) 289 2) 397 3) 491 4) 565

4) [aH$må¶m OmJoVrc àíZ {MÝhm§gmR>r ¶mo½¶ g§»¶m§Mr OmoS>r {ZdS>m.

1)  60, 110 2)0.1 3) 323, 257 4) 288, 362
4) Find out the pair of missing numbers.

1) 60,110 2) 0,1 3) 323, 257 4) 288, 382

5) Imbrb AmH¥$VrV àíZ{MÝhmÀ¶m {R>H$mUr H$moUVr g§»¶m ¶oB©b ?
42  13  100
57  67  625
84  71  ?

n¶m©¶r CÎmao …
1) 144 2) 324 3) 400 4) 576

5) Which number will come at the place of question mark in the following figure?

42   13   100

57   67   625

84   71   ?

Answer Options :

1) 144 2) 324 3) 400 4) 576
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6) {Xboë`m n`m©̀ m§‘YyZ Aja-g§»`m ŠbñQ>a {ZdS>m Omo Imbrb ‘m{bHo$Vrb àíZ{MÝh (7?) ~Xby eHo$b.
ZHNT-19, VDJP-23, RZFL-29, ?, JRXD-37

1) NVBH-32 2) NVBG-35 3) NVBH-31 4) NVCH-33

6) Select the letter-number cluster from among the given options that can replace the question mark

(7?) in the following series.

ZHNT-19, VDJP-23, RZFL-29, ?, JRXD-37

1) NVBH-32 2) NVBG-35 3) NVBH-31 4) NVCH-33

7) ""?'' emoYm.
CK 16 9 JR

OS 24 19 TX

KM  ? ? PV

n¶m©¶r CÎmao …
1) 14,21 2) 21,14 3) 56, 84 4) 84, 56

7) Find " ? "

CK 16 9 JR

OS 24 19 TX

KM  ? ? PV

Answer Options :

1) 14,21 2) 21,14 3) 56, 84 4) 84, 56

8) "?' À¶m OmJr H$m¶ ¶oB©b ?
 B C D

 E F G

 G I ?

n¶m©¶r CÎmao …
1) K 2) L 3) M 4) N

8) What will be in place of ‘2?

 B C D

 E F G

 G I ?

Answer Options :

1) K 2) L 3) M 4) N

9) Imbrb {XZ H«$‘mZo bmdë¶mg ‘Ymo‘Y H$moUVm {XZ ¶oB©b ?
OmJ{VH$ bmoH$g§»¶m {XZ, ‘{hbm ‘wº$s {XZ, OmJ{VH$ A§Y-ghm¶Vm {XZ, ZmJar g§ajU {XZ, {ejH$ {XZ
1) ‘{hbm ‘wº$s {XZ 2) OmJ{VH$ bmoH$g§»¶m {XZ
3) {ejH$ {XZ 4) ZmJar g§ajU {XZ

9) If following days are written sequentially, which day will come at center ?

Global Population Day, Women Liberation Day, Global Blind-aid Day,

Civil Defence Day, Teachers Day

1) Women Liberation Day 2) Global Population Day

3) Teachers Day 4) Civil Defence Day
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2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU

gm§Ho${VH$ ^mfm

1) EH$m gm§Ho${VH$ {b{nV g~i  Am{U ~XH$ Ago {b{hVmV, Va Ë¶mM {b{nV "gXZ' hm eãX H$gm
{b{hbm OmB©b ?

1) 2) 3) 4)

1) In one code language the words are written as g~i  and ~XH$ , how the word

"gXZ' will be written in same code language ?

1) 2) 3) 4)

2) EH$m gm§Ho${VH$ ^mfoV "RS' ho "OPUV' Ago {b{hbo OmVo. Vwåhr "MN' H$go {bhmb ?
1) JKPQ 2) JKOP 3) IKQR 4) IKST

2) In a code language "RS' is written as "OPUV'. How will you write "MN' ?

1) JKPQ 2) JKOP 3) IKQR 4) IKST

3) EH$m gm§Ho${VH$ ^mfoV hm eãX Agm {c{hVmV, Va Ë¶mM gm§Ho${VH$ ^mfoV hm eãX H$gm {chmc ?
1) IHILLWRP 2) IHINNWRP 3) IOILLWRP 4)IHITLWRP

3) The word APTITUDE is written as ELXEXQHA in a code language, how the word ELEPHANT

will be written in the same code language ?

1) IHILLWRP 2) IHINNWRP 3) IOILLWRP  4) IHITLWRP

4) Oa PRINCE = 689435, Va 718454 hr g§»¶m H$moUVm eãX Xe©{dVo ?
1) QURDEN 2) GARNDE 3) GPRDEN 4) QARNDE

4) If PRINCE = 689435, then which word is shown by the number 718454 ?

1) QURDEN 2) GARNDE 3) GPRDEN 4) QARNDE

5) EH$m {d{eï> gm§Ho${VH$ ̂ mfoV, 'EXERCISE' ho ‘UHAHHVLF’ Ago {b{hbo OmVo. Ë`m ̂ mfoV "àJVr' H$er {b{hbr
OmB©b?
1) JRUSVVHU 2) VVHUSUQJ 3) VHUTURVJ 4) JRUSUVVK

5) In a certain code language, ‘EXERCISE’ is written as ‘UHAHHVLF’. How will ‘PROGRESS’ be

written in that language?

1) JRUSVVHU 2) VVHUSUQJ 3) VHUTURVJ 4) JRUSUVVK

6) EH$m {d{eï> gm§Ho${VH$ ̂ mfoV, 'NATION' ho 'KERRSM' Ago {b{hbo OmVo Am{U 'COURSE' ho YSGIWV Ago
{b{hbo OmVo. Ë`m ^mfoV ‘FLAUNT’ H$go {b{hbo OmB©b?
1) ERKXRY 2) EPTYSY 3) EPIXRY 4) EPIXRZ

6) In a certain code language, ‘NATION’ is written as ‘KERRSM’, and ‘COURSE’ is written as

“YSGIWV’. How will ‘FLAUNT’ be written in that language?

1) ERKXRY 2) EPTYSY 3) EPIXRY 4) EPIXRZ
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7) EH$m g§mHo${VH$ ^mfoZwgma,
12 4 åhUOo fresh and juicy

5 4 6 åhUOo eat juicy fruits

6 7 8 åhUOo fruit is ripe

Va ¶m eãXmer {ZJ{S>V {MÝh H$moUVo ?
1) 4 2) 6 3) 5 4) 7

7) As per a code language

1 2 4 means fresh and juicy

5 4 6 means eat juicy fruits

6 7 8 means fruit is ripe

Then what is the sign associated with ‘eat’ ?

1) 4 2) 6 3) 5 4) 7

8) EH$m gm§Ho${VH$ ^mfoV 'BUSINESS' hm eãX 2309500 Agm {c{hcm OmVmo. Va 'GENERAL' hm eãX H$gm
{c{hcm OmB©c ?
1) 7514518112 2) 7555913 3) 7969393 4) 755591

8) In a certain language ‘BUSINESS’ is coded as 2309500. How is ‘GENERAL’ coded in that code ?

1) 7514518112 2) 7555913 3) 7969393 4) 755591

9) EH$m gm§Ho${VH$ ^mfoV 6 = 180, 3 = 18, 10 = 900, Va 9 = ?
1) 100 2) 240 3) 294 4) 648

9) In a code language 6 = 180, 3 = 18, 10 = 900, then 9 = ?

1) 100 2) 240 3) 294 4) 648

10) Oa Voc åhUOo ~Q>a, ~Q>a åhUOo XÿY, XÿY åhUOo nmUr, nmUr åhUOo Mhm, Mhm åhUOo noQ´>moc, noQ´>moc åhUOo H$m°’$s,
Va B§YZ åhUyZ H$emMm dmna H$amdm cmJoc ?
1)  noQ´>moc 2) Mhm 3) H$m°’$s 4) nmUr

10) If oil means butter, butter means milk, milk means water, water means tea, tea means petrol,

petrol means coffee, then what is used as a fuel ?

1) petrol 2) tea 3) coffee 4) water

 gmå¶, VwbZm, dJuH$aU

1) n{hë¶m XmoZ g§»¶m§Mm g‘g§~§Y bjmV KoD$Z àíZ{MÝhmÀ¶m {R>H$mUr ¶oUmar g§»¶m emoYm.
82 … 92 … … 65 … ?
1) 56 2) 66 3) 76 4) 86

1) Find the number that comes to the place of the question mark given the parity of the first two

numbers.

82 : 92 : : 65 : ?

1) 56 2) 66 3) 76 4) 86
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2) n{hë¶m XmoZ g§»¶m§Mm g‘g§~§Y bjmV KoD$Z àíZ{MÝhmÀ¶m {R>H$mUr ¶oUmar g§»¶m emoYm.
86 … 29 … … 98 … ?
1) 30 2) 32 3) 34 4) 36

2) Observe the correlation betgween the first two terms and find the corresponding term in place of

question mark.

86 : 29 : : 98 : ?

1) 30 2) 32 3) 34 4) 36

3) n{hë¶m OmoS>rVrc g§~§Y emoYm Am{U àíZ {MÝhmÀ¶m {R>H$mUr ¶mo½¶ A§H$ emoYm.

1) 2197 2) 1000  3) 100 4) 729
3) Find out the relationship between first pair and find out the number for question mark.

1) 2197 2) 1000 3) 100 4) 729

4) Xwgè`m eãXmMm Ogm n{hë`m eãXmer g§~§Y Amho Ë`mM àH$mao {Vgè`m eãXmer g§~§{YV n`m©̀  {ZdS>m.
~«wgoëg : ~opëO`‘ :: AmoQ>mdm : ?
n¶m©¶r CÎmao …
1) H°$ZS>m 2) H$mob§{~`m 3) H$m±Jmo 4) H$moñQ>m [aH$m

4) Select the option that is related to the third word in the same way as the second word is related to

the first word.

Brussels : Belgium :: Ottawa : ?

Answer Options :

1) Canada 2) Colombia 3) Congo 4) Costa Rica

3) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

‘erZ BZnwQ Am{U {MÝho

1) Oa R > H > K = P Am{U K = M > W = L > U < E, Agob Va Imbrbn¡H$s H$moUVo ~amo~a Zmhr?

1) P < R 2) P = M 3) L < K 4) U > H

1) If R > H > K = P and K = M > W = L > U < E, then which of the following is NOT correct?

1) P < R 2) P = M 3) L < K 4) U > H
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2) àdmh Vº$m Aä¶mgyZ Amkm§Mo AW© aMm d Ë¶m§Mm Cn¶moJ H$ê$Z {Xbobr g‘ñ¶m gmoS>dm.

1) DNHL 2) BNHL 3) BPHL 4). DELH

2) Study the flow chart and construct meanings of all commands and apply them to the given problem.

1) DNHL 2) BNHL 3) BPHL 4). DELH

3)) Imbrbn¡H$s H$moUVr g§»`m Am{U {MÝho `m§À`m AXbm~Xbr‘wio {Xbobo g‘rH$aU `mo½` hmoB©b?
112 × 40 - 5 + 55 + 16 = 536
1) 55 Am{U 40; ÷ Am{U + 2) 55 Am{U 112; ÷ Am{U -
3) 16 Am{U 112; ÷ Am{U - 4) 55 Am{U 40; ÷ Am{U -

3) Which of the following interchanges of numbers and signs would make the given equation correct?

112 × 40 — 5 + 55 + 16 = 536

1) 55 and 40; ÷ and + 2) 55 and 112; ÷ and -
3) 16 and 112; ÷ and - 4) 55 and 40; ÷ and -

4) {MÝho Am{U g§»¶m§‘Yrb Mma AXbm~Xbm§n¡H$s H$moUË¶m AXbm~XbrZo {Xbobo g‘rH$aU AMyH$ hmoB©b ?
3 - 6 + 4 = 7
1) + Am{U -, 6 Am{U 3 2) + Am{U -, 4 Am{U 6
3) + Am{U -, 3 Am{U 4 4) + Am{U -, 4 Am{U 7

4) Which one of the four interchanges in signs and numbers would make the given equation correct?

3 - 6 + 4 = 7

1) + and -, 6 and 3 2) + and -, 4 and 6

3) + and -, 3 and 4 4) + and -, 4 and 7
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5) Oa "-' åhUOo "x', "+' åhUOo "-', "x' åhUOo "÷', d "÷' åhUOo "+' Va Imbrb g‘rH$aU gmoS>dm.
{(8 - 4) x 2 - (24 + 32)} ÷ 72 = ?
1) 161 2) 160 3) 296 4) 286

5) If '-' means 'x', '+' means '+' and '+' means "+', then solve the following equation.

{(8 - 4) x 2 - (24 + 32)} ÷ 72 = ?

1) 161 2) 160 3) 296 4) 286

S>oQ>m g{’${g¶Ýgr/nwaoer gm‘J«r

1) Imbr {Xbobm EH$ àíZ Amho Á`mZ§Va VrZ {dYmZo AmhoV, I, II Am{U III, àË òH$m‘Ü ò H$mhr ‘m{hVr Amho. àíZmMo CÎma
XoÊ`mgmR>r H$moUVo {dYmZ(Zo) nwaogo/Amdí`H$ Amho Vo R>adm.
àíZ : A, B, C, D, E Am{U F Ago bo~b Agbobr ghm Kao EH$m H$m°bZrV AmhoV. House-A Am{U House-E ‘Yrb
gai A§Va {H$Vr Amho?
{dYmZo :
I) Ka F ho Ka C À`m nyd}bm 65 ‘rQ>a Amho, Ka A Ka D À`m npíM‘og 65 ‘rQ>a Amho.
II) Ka C KamÀ`m E À`m CÎmaog 85 ‘rQ>a Amho, Ka A ho Ka C À`m CÎmaog 70 ‘rQ>a Amho.
III) Ka F Ka D À`m X{jUog 70 ‘rQ>a Amho, Ka B Ka C À`m npíM‘og 90 ‘rQ>a Amho.
n¶m©¶r CÎmao …
1) {dYmZ I ’$º$ nwaogo Amho.
2) ’$º$ {dYmZ II nwaogo Amho.
3) {dYmZ I Am{U II EH$Ì Amdí`H$ Amho.
4) VrZhr {dYmZo I, II Am{U III EH${ÌVnUo Amdí`H$ AmhoV.

1) Given below is a question followed by three statements, I, II and III, each containing some

information. Decide which of the statement(s) is/ are sufficient/necessary to answer the question.

Question : Six houses labeled A, B, C, D, E and F are located in a colony. What is the straight

distance between House-A and House-E?

Statements:

I) House F is 65 m east to House C, House A is 65 m west to House D.

II) House C is 85 m north to House E, House A is 70 m north to House C.

III) House F is 70 m south to House D, House B is 90 m west to House C.

Answer Options :

1) Statement I only is sufficient.

2) Statement II only is sufficient.

3) Statement I and II together are necessary.

4) All three Statements I, IT and III together are necessary.
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2) {Xbobm àíZ d Ë¶mnwT>rb gm‘J«r Aä¶mgmVyZ Ë¶mg§X^m©V C{MV n¶m©¶ {ZdS>m.
EH$m {d^mJmVrb H$‘©Mmè¶m§Mo gamgar d¶ 30 df} Amho. nwT>rb dfu 10 H$‘©Mmar {Zd¥Îm Pmë¶mg H$‘©Mmè¶m§Mo gamgar
d¶ H$m¶ Agob ?
gm‘J«r … I) godm {Zd¥ÎmrMo d¶ 60 df}

II) {d^mJmV 50 H$‘©Mmar AmhoV.
n¶m©¶r CÎmao …
1) Ho$di gm‘J«r i nwaoer Ë¶mMdoir gm‘J«r ii CÎmamgmR>r nwaoer Zmhr
2) Ho$di gm‘J«r ii nwaoer Ë¶mMdoir gm‘J«r i CÎmamgmR>r nwaoer Zmhr
3) ’$º$ gm‘J«r i qH$dm ii CÎmamgmR>r nwaoer Amho.
4) XmoÝhr gm‘J«rMr CÎmamgmR>r JaO Amho.

2) Study the question and data provided below it and select appropriate option with respect to it.

Average age of employees working in department is 30 years. In the next year 10 workers will

retire, what will be the average age in the next year ?

Data : i) Retirement age is 60 years.

ii) There are 50 employers in the department.

Answer Options :

1) ialone is sufficient while ii alone not sufficient to answer

2) ii alone is sufficient while i alone not sufficient to answer

3) Either i or ii alone sufficient to answer

4) Both i and ii are necessary to answer

3) nwT>rc àíZ gmoS>{dÊ¶mÀ¶m g§X^m©V Vm{H©$H$ ÑîQ>çm C{MV n¶m©¶ {ZdS>m :
M Mo N er ZmVo H$m¶ ?
a) R Mr ~hrU J {hZo M Mm ^mD$ L ¶mÀ¶mer c½Z Ho$coco Amho, Omo ñdV:À¶m AmB©-d{S>cm§Mm EH$Q>m ‘wcJm Amho. hr

Am{U ¶m§Mr EH$Q>r ‘wcJr Amho.
b) N hr L Am{U J ¶m§Mr EH$Q>r ‘wcJr Amho.
n¶m©¶r CÎmao …
1) gm‘J«r a JaOoMr Amho na§Vw ’$º$ VodT>rM nwaoer Zmhr
2) gm‘J«r b JaOoMr Amho na§Vw ’$º$ VodT>rM nwaoer Zmhr
3) gm‘J«r a d b EH${ÌVnUo JaOoMr Am{U nwaoer Amho.
4) gm‘J«r a d b EH${ÌVnUo JaOoMr Am{U nU Anwar AmhoV.

3) Select the logically appropriate option with respect to answer the following question :

How is M related to N ?

a) R’s sister J has married M’s brother L, who is the only son of his parents.

b) Nis the only daughter of L and J.

Answer Options :

1) Data ais needed but not sufficient alone.

2) Data b is needed but not sufficient alone.

3) Data a and b together are needed and sufficient.

4) Data a and b together are needed but they are insufficient.
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4) nwT>rc àíZmMo CÎma XoÊ¶mÀ¶m g§X^m©V gdm©V ¶mo½¶ n¶m©¶ {ZdS>m :
Vw‘À¶m dJm©Vrc {dÚmÏ¶mªMr EHy$U g§»¶m {H$Vr ?
a) dJm©©Vrc nwéf {dÚmÏ¶mªMr g§»¶m ór {dÚmÏ¶mªÀ¶m g§»¶oÀ¶m XþßnQ> Amho.
b) dJm©Vrc gd© {dÚmÏ¶mªÀ¶m d¶mMr EHy$U ~oarO 323 Amho Am{U Ë¶m§Mo gamgar d¶ 17 Amho.
n¶m©¶r CÎmao …
1) ‘m{hVr "a" d "b" EH${ÌVnUo nwaoer Zmhr.
2) ‘m{hVr "a" d "b"EH${ÌVnUo JaOoMr Amho nU nwaoer Zmhr.
3) ’$º$ ‘m{hVr "a" nwaoer Amho Va ’$º$ ‘m{hVr d nwaoer Zmhr.
4) ’$º$ ‘m{hVr "b" nwaoer Amho Va ’$º$ ‘m{hVr "a" nwaoer Zmhr.

4) Select the most appropriate option with respect to answer the following question :

What is the total number of pupils in your class ?

a) The number of male students in the class is twice as much as the number of female students in

the class.

b) The sum of ages of all the pupils in class is 323 and their average age is 17.

Answer Options :

1) Information "a" and "b" together are not sufficient.

2) Information "a" and "b" together is necessary but not sufficient.

3) Information "a" alone is sufficient while information "b" alone is not sufficient.

4) Information "b" alone is sufficient while information "a" alone is not sufficient.

J{UVr` VH©$, Hy$Q >àíZ

1) B, G, H, K, D, F, T d V AmR> ì¶º$s EH$m g§ñWoV AÜ¶mnZ H$aVmV. gd©OU {‘iyZ J{UV, {’${O³g d agm¶Z{dkmZ
{eH$dVmV Am{U Vo {X„r, ‘w§~B©, H$mobH$mVm, am§Mr nmQ>Zm, ^monmi, ZmJnya Am{U h¡Xam~mX ¶oWyZ Ambo AmhoV. ‘mÌ Vo
¶mM H«$‘mZo AgVrb Ago Zmhr. {H$‘mZ XmoZ Am{U OmñVrV OmñV VrZ AÜ¶mnH$ àË¶oH$ {df¶ {eH$dVmV.
G {X„rMr ì¶º$s Amho d Vr J{UV {eH$dVo. H hr ì¶º$s am§MrMr Amho nU Vr {’${O³g {eH$dV Zmhr. h¡Xam~mXMr
H$moUrhr ì¶º$s agm¶Z{dkmZ {eH$dV Zmhr. D hr ì¶º$s agm¶Z{dkmZ {eH$dVo. G Mm {df¶ {eH$dUmar AÝ¶ EH$‘od
ì¶º$s H$mobH$mË¶mMr Amho. D ì¶º$s h¡Xam~mXMr Amho Am{U F hr ì¶º$s ‘w§~B©Mr Amho. V hr ì¶º$s H$mobH$mË¶mMr Zmhr
Am{U D MoM {df¶ {eH$dVo. B d T ¶mXmoÝhr ì¶º$s agm¶Z{dkmZ {eH$dVmV. agm¶Z{dkmZ {eH$dUmar EH$ ì¶º$s
^monmiMr Zmhr. T hr ì¶º$s ZmJnyaMr Zmhr.
agm¶Z{dkmZ {eH$dUmè¶m ì¶º$sMm JQ> {ZdS>m.
1) BT 2) BTF 3) BTK 4) BHT

1) Eight persons B, G, H, K, D, F, T and V work as a teacher in one Institute. Together they teach

Mathematics (Maths), Physics and Chemistry and are from Delhi, Mumbai, Kolkata, Ranchi,

Patna, Bhopal, Nagpur and Hyderabad, not necessarily in this sequence. Minimum two and not

more than three teachers teach each subject.

G is from Delhi and teaches Maths. H is from Ranchi but doesn’t teach Physics. No one from

Hyderabad is teaching Chemistry. D teaches Chemistry. Only one another person of G’s subject

is from Kolkata. D is from Hyderabad and F is from Mumbai. V is not from Kolkata and teaches

D’s subject. B and ‘T both teach Chemistry. One who teaches Chemistry, is not. from Bhopal. T is

not from Nagpur.

Select the group of persons who teach Chemistry.

1) BT 2) BTF 3) BTK 4) BHT
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2) K, L, M, N, O, P Am{U R Mr àË òH$ AmR>dS>çmÀ`m doJdoJù`m {Xder gmo‘dmanmgyZ gwê$ hmoUmar Am{U Ë`mM
AmR>dS>çmÀ`m a{ddmar g§nUmar narjm AgVo. N Am{U P À`m narjoÀ`m {Xdgm§‘Ü ò ’$º$ XmoZ ì`º$s¨À`m narjm AmhoV.
L Am{U R À`m narjoÀ`m {Xdgm§‘Ü ò ’$º$ VrZ ì`º$s¨À`m narjm AmhoV. O Mr narjm ewH«$dmar Amho. P Mr narjm H$mhr
{Xdg AmYr Amho O. K Mr narjm a{ddmar Zmhr. L Mr narjm M À`m narjoÀ`m AJXr AmYr Amho. P Mr narjm K
À`m narjoZ§Va Amho.
gmo‘dmar narjm H$moUmMr?
1) P 2) N 3) R 4) K

2) Each of K, L, M, N, O, P and R has an exam on a different day of a week starting from Monday and

ending on Sunday of the same week. Only two persons have exams between the exam days of N

and P. Only three persons have exams between the exam days of L and R. The exam of O is on

Friday. P’s exam is on some day before O. K’s exam is not on Sunday. L’s exam is just before M’s

exam. P’s exam is just after K’s exam.

Whose exam is on Monday?

1) P 2) N 3) R 4) K

3) Xoe-^¸$ ~oQ>mdaMo a{hdmgr H$moUË¶mhr àíZmMo CÎma XmoZ dm³¶m§V XoVmV. Ë¶mn¡H$s EH$ dm³¶ Zoh‘rM Iao AgVo d Xþgao
dm³¶ Zoh‘rM ImoQ>o AgVo. ~oQ>mda ^Q>H$Umam ZmZy, VrZ a{hdmem§Zm ôQ>bm Voìhm Ë¶mZo Ë¶m§Zm Ë¶m§À¶m àmXo{eH$
AÞnXmWm©~Ôb {dMmabo Voìhm Ë¶m§Mr CÎmao nwT>rbà‘mUo hmoVr.
AZw … S>mi-{IMS>r, Am‘Mo ~hþg§»¶ bmoH$ gO©Zerb AmhoV.
H$Zw … Am‘Mo ~hþg§»¶ bmoH$ gO©Zerb ZmhrV. Am‘Mo àmXo{eH$ AÞ dS>mnmd Amho.
‘Zy … Am‘Mo ~hþg§»¶ bmoH$ gO©Zerb AmhoV. Am‘Mo àmXo{eH$ AÞ S>mi^mV Amho.
Xoe^º$Mo àmXo{eH$ AÞ {ZdS>m.
1) S>mi-{IMS>r 2) dS>mnmd
3) S>mi^mV 4) gd© VrZ nXmW© àmXo{eH$ AÞ Amho

3) ON an island Desh-Bhakta the inhabitants always answer any question with two sentence - one of

which is always true and other is always false. Nanu, while moving around, meets three inhabitants

and asked about their regional food. Their replays were as follows.

Anu : Dal-khichadi. Most of our people are very creative.

Kanu : Most of our people are not creative. Vada-pav is our regional food.

Manu : Most of our people are very creative. Our regional food is dal rice.

Select the regional food of Desh-Bhakta.

1) Dal-khichadi 2) Vada-pav

3) Dal-rice 4) All these three are rgional foods

4) Á¶m§À¶mn¡H$s EH$ AnamYr Amho Aem Mma g§e{¶Vm§Mr nmo{cgm§H$Sy>Z H$gyZ Mm¡H$er Mmcy Amho. Oa ’$º$ EH$M {dYmZ
gË¶ Agoc Va AnamYr {ZdS>m.
AZr : Vo XmXþZo Ho$co
MmZ : B©Zr {ZanamY Amho.
XmXy : AZr ‘mÂ¶mda Amamon H$aV ImoQ>o ~mocVo¶.
B©Zr : MmZr Ia§ ~mocVo¶.
n¶m©¶r CÎmao …
1) B©Zr 2) XmXÿ 3) AZr 4) MmZr
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4) Four suspects, one of whom is the guiity party, are being interrogated by the police. Select the

culprit if just only one of the statements is true.

Ani : Dadudidit

Chani : Eniis innocent.

Dadu : Aniis lying when she accuses me.

Eni : Chaniis telling the truth.

Answer Options :

1) Eni 2) Dadu 3) Ani (4) Chani

n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

1) Ho$di hoam°BZ Am{U H$moHo$Z ¶mgma»¶m ~oH$m¶Xoera Am¡fYm§Mm OmJ{VH$ Amamo½¶mda ^¶mZH$ n[aUm‘ hmoVmo Amho Ago
Zmhr. ~ZmdQ> Am¡fYo XoIrb {VVH$sM Vrd« KmVH$ n[aUm‘ H$aV AmhoV. AZoH$Xm ¶m ~ZmdQ> Am¡fYm§V OrdKoUr agm¶Zo
AgVmV Am{U Ooìhm CnMmam§gmR>r Ë¶m§Mm dmna Ho$bm OmVmo Voìhm Vr é½UmMm Ordhr KoVmV. A{YH¥$V[aË¶m AZoH$ n¶m©¶r
Am¡fYmonMma CnbãY AmhoV. Ë¶mVrb KQ>H$ H¥${Verb Zgë¶mZo Vr Ver {ZénÐdr AgVmV nU Om{hamVrVyZ Xmdm
Ho$ë¶mà‘mUo Vr n[aUm‘H$maH$ d {ZénÐdrhr ZgVmV. ~oH$m¶Xoera Am¡fYm§Mr g‘ñ¶m hmVmiÊ¶mgmR>r AZoH$ nmdbo
CMbbr OmVmV na§Vw ~ZmdQ> Am¡fYm§Mr g‘ñ¶m J§̂ ra ‘mZbr OmV Zmhr. ~ZmdQ> Am¡fYm§Mm àíZ VmVS>rZo VS>rbm
ZoÊ¶mgmR>r n[aUm‘H$maH$ VmoS>Jm emoYÊ¶mMr JaO Amho.
darb n[aÀN>oXmMm à‘wI {ZîH$f© CÎm‘ àH$mao ì¶º$ H$aUmam n¶m©¶ {ZdS>m.
1) A°bmonWrì¶{V[aº$ H$mhr CnMma n[aUm‘H$maH$ ZmhrV.
2) hoam°BZ Am{U H$moHo$Z‘wio OmJ{VH$ Amamo½¶mda ^¶§H$a n[aUm‘ Pmbo AmhoV.
3) ~ZmdQ> Am¡fYo ~oH$m¶Xoera Am¡fYm§BVH$sM YmoH$mXm¶H$ AmhoV
4) ~ZmdQ> Am¡fYm§Mr g‘ñ¶m hmVmiÊ¶mgmR>r A{YH$ doi à¶ËZ H$aÊ¶mMr JaO Amho.

1) The global health is not terribly affected only by illegal drugs like heroin and cocaine. Counterfeit

medicines also cause equally severe damage. Many times these fake medicines contain deadly

chemicals and when used for treating diseases they even kill patients. There are many alternative

medicines available officially. While these are harmless in themselves because their ingredients

are not active and they are not effective and harmless as claimed through advertisements. Many

actions are taken for handling problem of illegal drugs ~ but problem of fakes is not considered

serious. There is urgent need to find effective solution to tackle problem of fake medicines.

Select the option that best expresses the main conclusion of the above passage.

1) Some remedies other than allopathy are not effective

2) Global health is terribly affected by heroin and cocaine

3) Fake medicines are equally dangerous as illegal drugs

4) For tackling problem of fake drugs there is a need to put more time and efforts

2) Am{’«$H$m g§dY©Z n¶©Q>ZmgmR>r OJ^a gd©kmZ Amho. Ymo³¶mV Amboë¶m AZoH$ àOmVtZm Z¡g{J©H$ g§ajU Ë¶mVyZ nwa{dbo
OmVo d Ë¶mM doir bmoH$m§Zm amoOJma nwadbm OmVmo, Ë¶m‘wio g§nÎmrMr {Z{‘©Vr hmoVo Am{U Zì¶m {nT>çm§Zm n¶m©daU gmja
hmoÊ¶mgmR>r {eH$dVo. gd©gmYmaU OZVobm n¶m©daU gmja ìhm¶bm ‘XV XoÊ¶mgmR>r H$moUË¶mhr Xoembm {Z¶§{ÌV n¶©Q>Z
g~i H$aUo e³¶ Amho. åhUyZ Amp³Q>©H$‘Yrb n¶©Q>ZmMo ñdmJV ìhm¶bm hdo. Vmn‘mZ d¥ÕrÀ¶m n[aUm‘r ~’©$ {dViyZ
Zdo Ob‘mJ© V¶ma hmoV AmhoV d hr n¶©Q>H$m§Zm Mm§Jbr g§Yr Amho. ho AmUIr Cera hmoD$ Z XoVm H$am¶bm hdo ZmhrVa
n¶©Q>H$m§Zm H$Xm{MV Zm‘foe n¶©Q>ZmV gh^mJr ìhmdo bmJob. ¶m‘wio Ymo³¶mVrb àmUr nmhÊ¶mgmR>r Ë¶m§Zm Iye R>odmdo
bmJob. ¶m‘wio n¶©Q>H$ Amp³Q>©H$À¶m ZmOyH$ nm[apñW{VH$s~m~V OmJê$H$ hmoVrb.
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darb ¶w{º$dmXmVrb ÌwQ>r CÎm‘ àH$mao ì¶º$ H$aUmao {dYmZ nwT>rb n¶m©¶mVyZ {ZdS>m.
1) dÝ¶OrdZ n¶©Q>H$m§Zm nm[apñW{VH$sÀ¶m g§dYm©ZmV ‘ZmnmgyZ ñdmañ¶ Amho ¶m J¥hrVH$mda Vmo AmYm[aV Amho.
2) H$mhr n¶©Q>H$m§Zm Ymo³¶mV Amboë¶m àmÊ¶m§Mo {ZarjU H$aÊ¶mV ñdmañ¶ Amho ¶m J¥hrVH$mda Vmo AmYmarV Amho.
3) g§dY©Z n¶©Q>ZmÀ¶m Ho$di EH$m ¶eñdr CXmhaUmdê$Z gd©gm‘mÝ¶rH$aUmMm ¶w{º$dmX Ho$bm Amho.
4) dÝ¶OrdZ n¶©Q>Z hm bmoH$m§Zm n¶m©daU gmja H$aÊ¶mMm gdm©V CÎm‘ nmohmoM‘mJ© Amho ¶m J¥hrVH$mda Vmo AmYmarV

Amho.
2) Africa is well known in the World for its conservation tourism. It provides natural protection for

many endangered species and simultaneously provides employment to people, creates wealth,

and educate young generations for making them environment literate. It is possible for any country

to strengthen controlled tourism for the sake of assisting general public to become environmentally

literate. Therefore tourism in the Arctic should be greeted. New shipping routes are opening as a

result of melting ice due to temperature rise and it is the good opportunity for tourists. This

should be done without further delay otherwise people may have to participate in extinction tourism

which will indulge them in viewing endangered animals. Tourists thus will become aware about

delicate ecosystem of Arctic.

Select the one from following that best expresses flaw in the above argument.

1) It is based on the assumption that all wildlife tourists are genuinely interests in conservation

of ecosystem

2) It is based on the assumption that some tourists are interested in observing endangered animals

3) Generalization is argued using only one successful example of conservation tourism

4) Itis based on the assumption that the wildlife tourism is the best approach towards assisting

people to become environment literate

3) Am{e¶mVrc Jar~ Xoem§V ‘wcm§Mm ñdñV ‘Oya åhUyZ Bco³Q´>m°{Z³g, V¶ma H$nS>o, nmXÌmUo, Am{U IoiUo {Z{‘©Vr
CÚmoJmVrc dmnamcm à{V~§Y H$aÊ¶mgmR>r H$m¶Xoera H$madmB© H$aÊ¶mMr JaO Amho. ¶mda ~§Xr AmUÊ¶mIoarO AÝ¶
H$mhrhr H$aUo ‘mÝ¶ hmoÊ¶mgmaIo Zmhr. ‘mcH$m§Zm ~mcl{‘H$ hr AmH$f©H$ ¶moOZm dmQ>Vo H$maU ‘wcm§Mr ~moQ>o MQ>nQ>
hcVmV, Ë¶m§Mr Ñï>r CÎm‘ AgVo, AZoH$Xm Vr àm¡T>m§nojm A{YH$ CËnmXZ H$aVmV Am{U Ë¶m§Zm OmñV nJma XoÊ¶mMr JaO
ZgVo. Ë¶m§Mm nwadR>m V¶maM AgVmo Am{U ¶m~Ôc {ejUmVyZ hmoUmè¶m ‘wcm§À¶m JiVrMo Am^ma ‘mZm¶cm hdoV. H$maU
Ë¶m§À¶m nmcH$m§Zm Ë¶m§Zm {eH$dUo nadS>V Zmhr. Oa ‘wcm§Zr H$m‘ H$aUo ^mJ Agoc Va Ë¶m§Zm ~më¶mnmgyZ Am{U
{ejUmnmgyZ d§{MV R>odco OmVo.
nwT>rc n¶m©¶m§n¡H$s gË¶ AgUmam Am{U darc ¶w{º$dmX gdm©V OmñV Xþ~im H$aUmam n¶m©¶ {ZdS>m.
1) ’$ma nydunmgyZ Am§Vaamï´>r¶ g§ñWm gdmªZm {ejU {Z:ewëH$ H$aÊ¶mgmR>r X~md AmUV AmhoV.
2) ZmoH$argmR>r d¶mÀ¶m {H$‘mZ ‘¶m©XoMo nmcZ H$aÊ¶mMo H$m¶Xo gd©Ì ApñVËdmV ZmhrV.
3) àm¡T>m§nojm ‘wco A{YH$ gmVË¶mZo H$m‘ H$aVmV ho gd©lwV Amho.
4) Vgohr Hw$Qw>§~mcm ‘wcm§À¶m amoOr{edm¶ Ë¶m§Zm {ejU XoUo nadS>Umao Zmhr.

3) Legal action should be taken to prevent the use of children as low cost labour in poor Asian

countries in industries such as electronics, garments, shoe, and toy manufacturers. Nothing short

of a ban on child labour is acceptable. Child labour is an attractive proposition for employers

because children have quick fingers, good eye sights and are often more productive than adults

and do not have to be paid very much. And there is a ready supply, thanks to the number of children

dropping out of education because their parents cannot afford to educate them. If children have to

work they are denied their childhood and education.

Select one of the following options that is true and most weakens the above arguments.
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1) International agencies have long been pressing for free education for all.

2) Laws governing the minimum age for employment do not exist everywhere.

3) Itis well known that children work more consistently than adults.

4) Without the children’s wages, the family could not afford to aducate them anyway.

4) Ooìhm ì¶º$s AÝ¶ XoemV OmVo Voìhm Ë¶mZo qH$dm {VZo AënmdYrV ̂ mfm AmË‘gmV H$aUo H$R>rU Agco Varhr {H$‘mZ Ë¶m
XoemMr ^mfm WmoS>çm à‘mUmV {eH$m¶cm hdr. XoemMr ^mfm WmoS>çm à‘mUmV AmË‘gmV Pmcr Var Vr Vwåhmcm Ë¶m
Xoemg§~§Yr d VoWrc cmoH$m§À¶m MmcrarVr{df¶r A{YH$ ‘m{hVr {‘idm¶cm ‘XV H$aVo. Ë¶mMà‘mUo EImÚm Jmoï>rH$S>o
A§Jwcr{ZX}e H$éZ dm hmVdmao H$aÊ¶mEodOr ‘m{hVr, nÎmm {dMmaUo, XþH$mZmV qH$dm {dlm§{VJ¥hmV ñdV:cm H$m¶ hdo Vo
‘mJdUo BË¶mXr Jmoï>r Vwåhr A{YH$ gmononUmZo H$ê$ eH$Vm ho {Z{üVM H$‘r noMmV Q>mH$Umao Amho Agmhr Ë¶mMm AW© hmoVmo.
darc ¶w{º$dmXmMm à‘wI {ZîH$f© R>aoc Aer gdm©V C{MV A{^ì¶º$s nwT>rc n¶m©¶m§VyZ {ZdS>m.
1) naXoemcm ôQ> XoUmè¶m ì¶º$s¨Zr naXoer ^mfoMm WmoS>m n[aM¶ H$éZ KoÊ¶mMm à¶ËZ Ho$cm nm{hOo.
2) Oa XoemÀ¶m ^mfoer Vwåhr n[a{MV Agmc Va Ë¶m XoemV OrdZ OJUo Vwåhmcm gmono OmVo.
3) Oa Vw‘Mm XoemÀ¶m ^mfoer n[aM¶ Agoc Va Ë¶m~Ôc A{YH$ ‘m{hVr {‘idUo Vwåhmcm e³¶ hmoVo.
4) g§àofUmgmR>r IwUm§Mr ^mfm dmnaÊ¶mnojm naXoer ^mfm ~mocUo gmono Amho.

4) When persons go to other country, he or she should try to learn at least some of the language of

that country, though it is difficult to pick up unfamiliar language in a short time. Learning just

alittle about a country’s language helps you to find out more about itself and its people’s customs.

Similarly it means that you can do things more easily by being able to ask for information,

addresses, order what you want at a shop or restaurant that is less embracing than pointing and arm

waving.

Select from the following options most appropriate expression as main conclusion of above

argument.

1) Persons visiting foreign country should try to get some acquaintance with its language.

2) If you are familiar with language of the country it is easier for you to lead a life in that country.

3) It is possible to find out more about the country if you are familiar with its language.

4) Speaking foreign language is easier than using sign language for communication.

4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©

{dYmZo Am{U ẁ{º$dmX

1) EH$m boIH$mÀ¶m ‘Vo, qH$‘V hr ‘yë¶mgmaIr ~m~ ZgVo. EImXo {Xder, H$moigm, nmd, Q>nmbIM©, H$m‘Jma, Ka^mS>o
¶mgma»¶m Jmoï>tÀ¶m qH$‘Vr XþßnQ> Pmë¶m Va {H$‘Vr Z¸$sM XþßnQ> hmoVrb nU gd© dñVy§Mo ‘yë¶ AY} hmoB©b Agm
¶w{º$dmX Vmo H$aVmo.
boIH$mÀ¶m ¶w{º$dmXmZwgma Oa gd© Jmoï>tÀ¶m {H$‘Vr XþßnQ> Pmë¶m Va,
1) {dH$boë¶m dñVy§Mo ‘yë¶ XþßnQ> hmoB©b 2) dñVy§Mo ‘yë¶ pñWa amhrb
3) IaoXr Ho$boë¶m dñVy§Mo ‘yë¶ AY} hmoB©b 4) ’$º$ n¡em§Mr qH$‘V AYu hmoB©b



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ~w{Õ‘mnZ MmMUr d A§H$J{UV / 26

1) According to one writer, price is not the same thing as value. He argues that on the day price of

everything viz., coal, bread, postage, labour, house rents were to double. There will be definitely

rise in the price but values of all thing would be halved.

The writer argues that if prices of all things doubled

1) The values of the things sold would be doubled

2) The values of things would be constant

3) The values of the things purchased would be halved

4) The value of money only would be halved

2) nmD$g nS>Ê¶mMr e³¶Vm AgÊ¶mgmR>r T>J AgboM nm{hOoV. hdm‘mZmMm A§XmO ñdÀN> AmH$me Agm Amho åhUOo
nmdgmMr e³¶Vm Zmhr.
darb ¶w{º$dmXmV dmnaboë¶m AZw‘mZ à{H«$¶oer gdm©V OdiyZ g‘m§Va Agbobm n¶m©¶ {ZdS>m.
1) Ooìhm ~mhoaMo Vmn‘mZ 0°C À¶m Imbr OmVo Voìhm KamVrb gd© Obdm{hÝ¶m ’w$Q>Ê¶mMm YmoH$m AgVmo. åhUyZM —

5°C Vmn‘mZmbm Vw‘À¶m KamMo gd© Obdm{hÝ¶m ’w$Q>Vrb.
2)Ooìhm aº$mVrb q~{~H$m gmH$iVmV ’$º$ VoìhmM Inbr YaVo. Ooìhm Vw‘Mr Inbr Yabobr ZgVo Voìhm Vw‘À¶m aº$mV

q~{~H$m ZgVmV.
3) ‘mgo OJÊ¶mgmR>r ‘ñË¶noQ>rMo Vmn‘mZ {H$‘mZ 25°C AgUo Amdí¶H$ Amho. gd© ‘mgo {Od§V AmhoV åhUOo {H$‘mZ

25°C Vmn‘mZ AgUma.
4) ’$º$ Am‘mdñ¶oÀ¶m {Xder Ooìhm M§Ð, n¥Ïdr d gy¶© ¶m§À¶m Xaå¶mZ AgVmo Voìhm gy¶© J«hUo bmJVmV. nwT>À¶m

AmR>dS>çmn¶ªV A‘mdñ¶m Zmhr åhUyZ AmO gy¶©J«hU AgUma Zmhr.
2) In order for it to be possible to rain, clouds must be present. The weather forecast is predicting

clear skies, so there is no chance of rain.

Select one of the following options that most closely parallels the reasoning used in the above

argument.

1) When outside temperatures fall below 0°C, all household water pipes are at risk of bursting.

So at a temperature of —5°C all your household water pipes will burst.

2) Scab will only form when platelets in the blood have clotted. If you do not have any scabs, you

do not have platelets in your blood.

3) The temperature in the fish tank must be at least 25°C for the fish to survive. The fish are all

alive, therefore the temperature must be at least 25°C.

4) Solar eclipses only occur at New Moon, when the Moon is between the Earth and the Sun. The

New Moon is not until next week, so there will be no solar eclipse today.

{dYmZo Am{U J¥{hVHo$
1) Imbrb {dYmZmMm {dMma H$am Am{U {dYmZmVrb H$moUVr J¥{hVHo$ A§V ŷ©V AmhoV/AmhoV Vo R>adm.

{dYmZ : Am°ZbmBZ {ejU {dÚmÏ`mªZm Ë`m§À`m AmdS>rÀ`m H$moUË`mhr {R>H$mUmhÿZ dJmªZm CnpñWV amhÊ`mMr nadmZJr
XoVo. `mì`{V[aº$, Am°ZbmBZ ì`m»`mZo aoH$m°S>©, g§J«{hV Am{U ^{dî`mVrb g§X^m©gmR>r Am{U Z§Va dmnaÊ`mgmR>r
gm‘m{`H$ Ho$br OmD$ eH$VmV.
J¥hrVHo$ :
I) ì`m»¶mZmMr COiUr H$aÊ`mgmR>r {dÚmWu aoH$m°S>© Ho$bobr gm‘J«r nmhÿ eH$VmV.
II) Am°ZbmBZ {ejU {dÚmÏ`mªZm Ë`m§À`m gmò rÀ`m doir gm‘J«r {eHy$ XoV Zmhr.
III) Ho$di ^m¡Jmo{bH$Ñï²>`m XyaMo {dÚmWu Am°ZbmBZ ì`m»`mZmg CnpñWV amhÿ eH$VmV.
n¶m©¶r CÎmao …
1) ’$º$ I {Z{hV Amho 2) ’$º$ I Am{U II A§V{Z©{hV AmhoV
3) ’$º$ I Am{U III A§V{Z©{hV AmhoV 4) gd© I, I Am{U III A§V{Z©{hV AmhoV
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1) Consider the following statement and decide which of the given assumptions is/are implicit in

the statement.

Statement : Online education allows students to attend classes from any location of their choice.

Additionally, online lectures can be recorded, archived and shared for future reference and later

use.

Assumptions :

I) Students can view the recorded content for revising the lecture.

II) Online education does not allow the students to learn the content at a time of their comfort.

III) Only geographically distant students can attend online lectures.

Answer Options :

1) Only I is implicit 2) Only I and II are implicit

3) Only I and III are implicit 4) All I, I and III are implicit

2) {dYmZ I, II Am{U III H«$‘m§H$mÀ`m {H«$ òMo VrZ Aä`mgH«$‘ AZwgaVmV. {dYmZmVrb àË òH$ Jmoï> gË` Amho Ago J¥hrV
Yê$Z, gwM{dboë`m H¥$VrMm H$moUVm Aä`mgH«$‘ (g‘ñ òÀ`m g§X^m©V nmR>nwamdm/gwYmaUogmR>r {ZU©̀  ¿`md`mMm Amho)
Vm{H©$H$nUo AZwgaU H$aÊ`mgmR>r (Mo) AZwgaU H$am.
{ZdoXZ : Joë`m XmoZ ‘{hÝ`m§V dmT>Ë`m MmoarÀ`m KQ>Zm§~m~V J¥h{Z‘m©U dgmhVrVrb a{hdmem§Zr nmo{bgm§H$S>o VH«$ma Ho$br
Amho.
H¥$Vr Aä`mgH«$‘ :
I) MmoarÀ`m KQ>Zm amoIÊ`mgmR>r ehamVrb gd© nmobrg ìh°Z `m J¥h{Z‘m©U dgmhVrV V¡ZmV H$aÊ`mV `mì`mV.
II) nmo{bgm§Zr `m ^mJmV A{YH$ Xj amhÿZ `m J¥h{Z‘m©U dgmhVrV grgrQ>rìhr H°$‘oao ~gdmdoV.
III) `m ^mJmV amhUm`m© bmoH$m§Zm XoIrb A{YH$ gVH©$ amhÊ`mgmR>r nmo{bg-gmd©O{ZH$ ^mJrXmarÛmao gh^mJr H$ê$Z

KoVbo nm{hOo Am{U H$moUË`mhr g§e`mñnX ì`º$s qH$dm {H«$`mH$bmnm~Ôb doioda ‘m{hVr Úmdr.
n¶m©¶r CÎmao …
1) ’$º$ I Am{U III ’$m°bmo H$aVmo 2) ’$º$ II ’$m°bmo H$aVmo
3) ’$º$ I Am{U II ’$m°bmo H$aVmV 4) ’$º$ II Am{U III ’$m°bmo H$aVmV

2) A statement is followed by three courses of action numbered I, II and III. Assuming everything in

the statement to be true, decide which of the suggested courses of action (a decision to be taken

for follow up /improvement in regard to the problem) logically follow(s) for pursuing.

Statement : The residents of a housing colony have complained to the police about the rising

cases of theft in the last two months.

Courses of Action :

I) All the police vans of the city should be deployed to this housing colony to prevent the cases

of theft.

II) The police should be more vigilant in this area and should install CCTV cameras in this housing

colony.

III)The people residing in this area should also be involved through police-public partnerships to

be more vigilant, and timely inform about any suspicious person or activity.

Answer Options :

1) Only I and III follow 2) Only II follows

3) Only I and II follow 4) Only II and III follow
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3) ghm {dYmZm§Imbr EH${ÌV Ho$boë¶m {VKm§Mo Mma JQ> {Xbo AmhoV. Vm{H©$H$[aË`m g§~§{YV H«$‘~Õ g§M {ZdS>m.
a) Á¶m gd©OUr Mm§Jbm ñd¶§nmH$ ~ZdVmV, Ë¶m Am¶m AmhoV.
b) Oo gd©OU Mm§Jbm ñd¶§nmH$ ~ZdVmV, Vo nwéf ZmhrV.
c) H$mhr nwéf Mm§Jbm ñd¶§nmH$ ~ZdV ZmhrV.
d) H$moUrhr nwéf AmB© Zmhr.
e) Omo H$moUr Mm§Jbm ñd¶§nmH$ ~ZdVmo, Vmo nwéf Zmhr.
f) H$mhr nwéf Am¶m ZmhrV.
n¶m©¶r CÎmao …
1) d, a, b 2) b, e, f 3) a,c f 4) d,e, a

3) Six statements are followed by four sets of combination of three. Choose the logically related

ordered set.

a) All those who cook well are mothers.

b) All those who cook well are not men.

c) Some men do not cook well.

d) No man is a mother.

e) No one who cooks well is a man.

f) Some men are not mothers.

Answer Options :

1) d, a, b 2) b, e, f 3) a,c f 4) d, e, a

{dYmZo Am{U {ZîH$f©
1) {Xbobr {dYmZo Am{U {ZîH$f© H$miOrnyd©H$ dmMm. {dYmZm§‘Ü ò {Xbobr ‘m{hVr gË` Amho Ago J¥hrV Yê$Z, Oar Vr

gm‘mÝ`V… kmV VÏ`m§er {^Þ Agë`mMo {XgV Agbo Var, {dYmZm§‘YyZ {Xboë`m {ZîH$fmªn¡H$s H$moUVo {ZîH$f©
Vm{H©$H$[aË`m AZwgaU H$aVmV Vo R>adm.
{dYmZo : H$mhr H$bmH$ma S>m°ŠQ>a AmhoV.

H$moUVmhr S>m°ŠQ>a dH$sb ZgVmo.
gd© g¡{ZH$ dH$sb AmhoV.

{ZîH$f© : I) H$moUVmhr g¡{ZH$ S>m°ŠQ>a ZgVmo.
II) H$moUVmhr H$bmH$ma dH$sb ZgVmo.
III) H$mhr dH$sb {enmB© AmhoV.

n¶m©¶r CÎmao …
1) ’$º$ {ZîH$f© I Am{U II ’$m°bmo H$aVmV 2) ’$º$ I Am{U III {ZîH$f© ’$m°bmo H$aVmV
3) ’$º$ {ZîH$f© III ’$m°bmo H$aVmo 4) gd© {ZîH$f© I, II Am{U III ’$m°bmo H$aVmV

1) Read the given statements and conclusions carefully. Assuming that the information given in the

statements is true, even if it appears to be at variance with commonly known facts, decide which

of the given conclusions logically follow(s) from the statements.

Statements : Some artists are doctors.

No doctor is a lawyer.

All soldiers are lawyers.

Conclusions : I) No soldier is a doctor.

II) No artist is a lawyer.

III) Some lawyers are soldiers.

Answer Options :

1) Only conclusions I and II follow 2) Only conclusions I and III follow

3) Only conclusion III follows 4) All conclusions I, II and III follow
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2) Imbrb àíZmV 2 {dYmZo d 2 AZw‘mZo {Xbr AmhoV.
{dYmZo … 1) gd© PmonS>çm ~§Jbo AmhoV.

2) EH$hr ~§Jbm V§~y Zmhr
AZw‘mZo … A) EH$hr PmonS>r V§~y Zmhr

B) gd© PmonS>çm ~§Jbo Agy eH$VmV.
¶mn¡H$s H$moUVo AZw‘mZ/AZw‘mZo gË¶ Amho/AmhoV ?
1) ’$º$ AZw‘mZ A gË¶ Amho. 2) ’$º$ AZw‘mZ B gË¶ Amho.
3) XmoZhr AZw‘mZo A d B gË¶ AmhoV 4) XmoÝhr AZw‘mZo A d B AgË¶ AmhoV.

2) In following question, 2 statements and 2 conclusions are given.

Statements : 1) All huts are bungalows.

2) Not a single bungalow is tent.

Conclusions : A) Not a single hut is tent.

B) All huts may be bungalows.

Which conclusion/conclusions is/are true ?

1) Only conclusion A is true 2) Only conclusion B is true

3) Both conclusions A and B are true 4) Both conclusions A and B are not true

3) ¶m àíZmV XmoZ {dYmZo 1 Am{U 2 {Xbobr AmhoV; Ë¶mZ§Va P Am{U Q ho XmoZ {ZîH$f© AmhoV. Vwåhmbm XmoÝhr {dYmZo
Iar ‘mZmd¶mMr AmhoV Am{U Ë¶mnmgyZ H$moUVm/H$moUVo {ZîH$f© {ZpíMVnUo H$mT>Vm ¶oVrb ho R>adm¶Mo Amho, Vw‘Mo CÎma
nwT>rbn¡H$s EH$m n¶m©¶mÛmao Xe©dm¶Mo Amho.
{dYmZo : 1) gd© {b{nH$ AmYw{ZH$ AmhoV.

2) H$mhr nwéf {b{nH$ AmhoV.
{ZîH$f© … P) gd© AmYw{ZH$ ì¶{º$ nwéf AmhoV.

Q) H$mhr nwéf AmYw{ZH$ AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ P hm {ZîH$f© {ZKVmo. 2) ’$º$ Q hm {ZîH$f© {ZKVmo.
3) P Am{U Q ho XmoÝhr {ZîH$f© {ZKVmV. 4) P Am{U Q ¶mn¡H$s H$moUVmM {ZîH$f© {ZKV Zmhr

3) In this questions, two statement number 1 and 2 are followed by two conclusions P and Q. You

have to take these two statements to be true and then decide which of the two conclusion/s

necessarily follow/s from the two given decide which of the two conclusion/s necessarily follow/

s from the two given statements. Indicate your answer by using the appropriate alternatives.

Statements : 1) All clerks are modern.

2) Some men are clerls

Conclusions : P) All modern persons are men.

Q) Some men are modern.

Answer Options :

1) Only conclusion P follows 2) Only condlusion Q follows

3) Both conclusions P and Q follows 4) Neither conclusions P and Q follows



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ~w{Õ‘mnZ MmMUr d A§H$J{UV / 30

5) ~¡R>H$ d ‘m§S>Ur ì`dñWm

~¡R>H$
1) A, B, C Am{U D ¶m§Zm EH$m AmoirV ~gm¶Mo AmhoV. nU C Am{U D ho EH$Ì Agy eH$V Zmhr. VgoM, B hm {Vgè¶m

ñWmZmda Agy eH$V Zmhr .
1) A hm n{hë¶m ñWmZmda Amho 2) A hm Xþgè¶m ñWmZmda Amho
3)A hm {Vgè¶m ñWmZmda Amho 4) A Mm Mm¡Ï¶m ñWmZmda Amho

1) A,B, Cand D are to be seated in a row. But C and D can’t be together. Also, B can't be at third place.

Which of the following must be wrong ?

1) A is at the first place 2) A is at the second place

3) As at the third place 4) A is at the fourth place

2) A, B, C, D, E, F, G, H Am{U K ZmdmÀ`m ZD$ ì`º$s CÎmaoH$S>o Vm|S> H$ê$Z gai aofoV ~gë`m AmhoV. E hm A À`m
COdrH$S>o {Vgam Amho. G hm B À`m S>mdrH$S>o Mm¡Wm Amho. B Am{U F ‘Ü ò ’$º$ XmoZ ì`º$s ~gë`m AmhoV. C A À`m
S>mdrH$S>o {Vgam Amho. K E À`m S>mdrH$S>o Mm¡Wm Amho. ’$º$ C ¶oWo Amho G À`m S>mdrH$S>o. K Am{U H ‘Ü ò VrZnojm
OmñV ì`º$s ~gë`m AmhoV. F À`m bJoM S>mdrH$S>o H$moU ~gbo Amho?
1) H 2) E 3) D 4) K

2) Nine persons named A, B, C, D, E, F, G, H and K are sitting in a straight line facing north. E is third

to the right of A. G is fourth to the left of B. Only two persons are sitting between B and F. C is

third to the left of A. K is fourth to the left of E. Only C is to the left of G. More than three

persons are sitting between K and H. Who is sitting to the immediate left of F?

1) H 2) E 3) D 4) K

3) P, Q, R, S, T, U, V Am{U W ZmdmMo AmR> {‘Ì EH$m JmobmH$ma Q>o~bm^modVr H|$ÐmH$S>o Vm|S> H$ê$Z ~gbo AmhoV. R hm
S À`m COdrH$S>o {Vgam Amho. V hm Q À`m S>mdrH$S>o {Vgam Amho. T hm Q À`m COdrH$S>o Mm¡Wm Amho. U hm V À`m
S>mdrH$S>o Xwgam Amho. P hm V À`m bJoM COdrH$S>o Amho. Va U À`m S>mdrH$S>o Xwgè`m H«$‘m§H$mda H$moU Amho ?
1) T 2) W 3) S 4) P

3) Eight friends named P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre.

R is to third to the right of S. V is third to the left of Q. T is fourth to the right of Q. U is second

to the left of V. P is to the immediate right of V. Who is sitting second to the left of U?

1) T 2) W 3) S 4) P

4) K, L, M, N, O, P, R, S Am{U T ZmdmÀ`m ZD$ ‘wbr CÎmaoH$S>o Vm|S> H$ê$Z gai aofoV ~gë`m AmhoV. R Am{U O
‘Ü ò VrZnojm OmñV ì`º$s ~gë`m AmhoV. T AmoirÀ`m EH$m Q>moH$mbm Amho. L hm K À`m S>mdrH$S>o {Vgam Amho. O Am{U
S ‘Ü ò ’$º$ XmoZ ì`º$s ~gë`m AmhoV. N hm M À`m S>mdrH$S>o Mm¡Wm Amho. L N À`m bJoM S>mdrH$S>o Amho. T hm N
À`m S>mdrH$S>o H$mhr {R>H$mUr ~gbobm Amho. M À`m bJoM S>mdrH$S>o Amho. R À`m COdrH$S>o Mm¡Ï`m ñWmZmda H$moU ~gbm
Amho?
1) M 2) S 3) P 4) O

4) Nine girls named K, L, M, N, O, P, R, S and T are sitting in a straight line facing north. More than

three persons are sitting between R and O. T is at one of the line ends. L is third to the left of K.

Only two persons are sitting between O and S. N is fourth to the left of M. L is to the immediate

left of N. T is sitting at some place towards the left of N. S is to the immediate left of M. Who is

sitting at fourth place to the right of R?

1) M 2) S 3) P 4) O
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‘m§S>Ur ì`dñWm

1) EH$m ‘Oë¶mdarb XmoZ AmoitV, CÎmaoH$S>o d X{jUoH$S>o Xmao Agboë¶m ghm Imoë¶m P, Q, R, S, T d U ¶m§Zm {Xë¶m
AmhoV. Q bm CÎma {Xeobm Xma AgUmar Imobr {‘ibr Amho d Vmo S Mm eoOmar Zmhr. S Am{U U ¶m§À¶m Imoë¶m
H$U©aofm§V nañna{déÕ {Xem§À¶m AmhoV U Mm eoOmar R bm, X{jUoH$S>o Xma AgUmar Imobr {‘imbr Amho d T bm
CÎmaoH$S>o Xma Agbobr Imobr {‘imbr Amho. Oa P d T ¶m§Zr nañnam§À¶m Imoë¶m ~Xbë¶m Va U À¶m eoOmar Imobr
Vmã¶mV AgUmar ì¶º$s {ZdS>m.
1) P 2) Q 3) T 4) R

1) Six rooms on a floor in two rows facing North and South are allotted to P, Q, R, S, T and U. Q gets

a North facing room and is not next to S. S and U get diagonally opposite rooms. R next to U, gets

a South facing room and T gets North facing room. If the rooms of P and T are interchanged then

select the person who possesses the room that will be next to that of U’s room.

1) P 2) Q 3) T 4) R

2) Imcrc ‘m{hVr H$miOrnyd©H$ Aä¶mgm Am{U {Xcoë¶m àíZmMo CÎma Úm :
~rZm, ‘rZm, Q>rZm, arZm, H$arZm, hrZm Am{U S>m¶Zm ¶m aoëdoZo "VrZ ñVar¶ e¶ZmgZmÀ¶m" S>ã¶mV àdm H$arV AmhoV
¶mn¡H$s àË¶oH$ OU A{^¶§Vm, S>m°³Q>a, dmñVw{dÚm{demaX, Am¡fY {Z‘m©Vm, dH$sc, nÌH$ma Am{U amoJ{M{H$ËgmVÁk Ago
{d{dY ì¶mdgm{¶H$ AmhoV. Ë¶m§Mr "gdm©V Imcrc XmoZ e¶ZmgZo," "‘Ycr VrZ e¶ZmgZo" Am{U "gdm©V darc XmoZ
e¶ZmgZo" Aer e¶ZmgZo AmhoV. ~rZm hr A{^¶§Vm "darc e¶ZmgZmda" Zmhr. dmñVw{dÚm{demaX hr Aer ì¶º$s Amho
H$s, {OÀ¶m e¶ZmgZmMm àH$ma hm ~rZmÀ¶m e¶ZmgZmgmaImM Amho. ‘rZm Am{U hrZm ¶m "‘Yrc e¶ZmgZmda" ZgyZ
Ë¶m§Mo ì¶dgm¶ AZwH«$‘o amoJ{M{H$ËgmVÁk dH$sc Ago AmhoV. Q>rZm hr Am¡fY{Z{‘©Vr Amho. S>m¶Zm nÌH$ma Zmhr Am{U
dmñVw{dÚm{demaXhr Zmhr. H$arZmÀ¶m e¶ZmgZmMm àH$ma hm S>m°³Q>aÀ¶m e¶ZmgZmgmaImM Amho, Va Imcrcn¡H$s
H$moUË¶m g‘yhmMr e`ZmgZo ‘Ycr AmhoV ?
1) S>m¶Zm-H$arZm-Q>rZm 2) hrZm-H$arZm-Q>rZm
3) S>m¶Zm-H$arZm-arZm 4) S>m¶Zm-hrZm-Q>rZm

2) Study the following information carefully and answer the given question :

Beena, Meena, Teena, Reena, Karina, Heena and Daina are travelling in a train compartment with

‘llI- tier sleeper berth’. Each of them has different profession of engineer, doctor, architect,

pharmacist, lawyer, journalist and pathologist. They occupied ‘two lower berths’, ‘three middle

berths’ and two upper berths’. Beena, the engineer is not on the ‘upper berth’. The architect is the

only person who occupies the same type of berth as that of Beena. Meena and Heena are not on

the ‘middle berth’ and their professions are pathologist and lawyer respectively. Teena is pharmacist.

Daina is neither a journalist nor a architect. Karina occupies the same type of berth as that of

doctor, then which of the following groups occupies the middle berth ?

1) Daina — Karina — Teena 2) Heena- Karina — Teena

3) Daina — Karina — Reena 4) Daina — Heena - Teena
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6) ZmVog§~§Y
1) ‘m{hVr Aä¶mgyZ Ë¶m g§X^m©V {Z{üVnUo gË¶ Agcoco {dYmZ {ZdS>m.

a) EH$m Hw$Qw>§~mV P,Q,R,S,T d U ¶m ghm ì¶º$s Am{U XmoZ OmoS>nr AmhoV.
b) S hr P Mr AmOr Am{U Q Mr AmB© Amho.
c) R hr Q Mr ~m¶H$mo Amho.
d) U hr T Mr ZmV Amho.
n¶m©¶r CÎmao :
1) P hm U Mm {Z{üVnUo ^mD$ Amho
2) P hr {Z{üVnUo U Mr EH$Q>r ~hrU Amho
3) S cm XmoZ ZmVd§S>o AmhoV Am{U Ë¶mn¡H$s EH$ {Z{üVnUo ‘wcJr Amho
4) Q cm Z¸$sM XmoZ ‘wcr AmhoV.

1) Study the information and select definitely true statement with respect to it.

a) In a family of six persons P, Q, R, S, T and U and there are two married couples.

b) S is grandmother of P and mother of Q.

c) R is wife of Q.

d) U is the granddaughter of T.

Answer Options :

1) T is certain that P is a brother of U

2) P is a definitely only sister of U

3) S has two grandchildren and one of them is certainly a girl

4) T is certain that Q has two daughters

2) EH$m ì¶º$sMr AmoiI H$ê$Z XoVmZm ŷ‘r åhUmbr, ""hm ‘mÂ¶m AmB©À¶m AmB©Mm EHw$bVm EH$ ‘wbJm Amho,'' ŷ‘r Ë¶m
ì¶º$sMr H$moU bmJVo ?
1) ~hrU 2) ‘mder 3) ^mMr 4) ‘wbJr

2) Introducing a man, Bhumi said, "He is the only son of the mother of my mother." How Bhumi is

related to the man ?

1) Sister 2) Maternal aunt 3) Niece 4) Daughter

3) N Mr AmB© R Amho, S hm R Mm ‘wcJm Amho, G Am{U M ̂ mD$-~hrU AmhoV. M hm N Mm ‘wcJm Amho. Va G Mr AmOr
H$moU Amho ?
1) S 2) N 3) R 4) darcn¡H$s Zmhr

3) R is the mother of N, S is the son of BR, G and M are brother and sister. M is the son of N. Who

is the grandmother of G 7?

1) S 2) N 3) R 4) None of the above

4) EH$m d¥Õ ‘mUgmH$S>o ~moQ> XmIdV g{MZ åhUmbm, ""Ë¶mMm ‘wbJm ‘wbrMm H$mH$m Amho''. d¥Õ ‘mUyg g{MZer H$gm
g§~§{YV Amho ?
1) ^mD$ 2) H$mH$m 3) dS>rb 4) AmOmo~m

4) Pointing to an old man, Sachin said, "His son is my daughters uncle". How is old man related to

Sachin ?

1) Brother 2) Uncle 3) Father 4) Grandfather
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5) A Am{U B åhUOo 'A åhUOo B Mr nËZr'
A % B åhUOo 'A hm B Mm ^mD$ Amho'
A % B åhUOo 'A B Mm ‘wbJm Amho'
A @ B åhUOo 'A hr B Mr AmB© Amho'
A # B åhUOo 'A hm B Mm {nVm Amho'
Oa H % G # M @ Y % T @ S & X = K, Agob Va Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) G hr Y Mr nËZr Amho. 2) T hm K Mm ^mD$ Amho.
3) Y hm H Mm OmdB© Amho 4) S hr M Mr AmOr Amho.

5) A & B means ‘A is the wife of B’

A % B means ‘A is the brother of B’

A @ B means ‘A is the son of B’

A # B means ‘A is the mother of B’

A = B means ‘A is the father of B’

If H % G # M @ Y % T @ S & X = K, then which of the following statements is NOT correct?

1) G is the wife of Y. 2) T is the brother of K.

3) Y is the son-in-law of H 4) S is the paternal grandmother of M.

6) EH$Vm ZmdmÀ`m ‘wbrÀ`m N>m`m{MÌmH$S>o bj doYyZ gå`H$ åhUmbm, 'Vr ‘mÂ`m nËZrÀ`m ‘wbrÀ`m d{S>bm§À`m AmB©Mr
EHw$bVr EH$ ‘wbJr Amho'. EH$VmÀ`m AmB©Mm gå`H$À`m AmB©er H$gm g§~§Y Amho?
1) ^mMr 2) ‘wbJr 3) ZmV 4) ~hrU

6) Pointing to the photograph of a girl named Ekta, Samyak said, ‘she is my wife’s daughter’s father’s

mother’s only daughter’s daughter’. How is Ekta’s mother related to Samyak’s mother?

1) Niece 2) Daughter 3) Granddaughter 4) Sister

7) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
1) AmH¥$VtMr g§»¶m
2) H«$‘nyVu
3) KS>r, Amagm, Obà{V‘m
4) KZmdarb àíZ
5) doZ AmH¥$Vr

1) AmH¥$VtMr g§»¶m

1) Imbr {Xboë¶m AmH¥$VrVrb ‘Ybr C^r aofm nwgbr Va ‘yi AmH¥$VrVrb {ÌH$moU Am{U ‘Ybr C^r aofm nwgë¶mZ§Va
V¶ma hmoUmè¶m AmH$¥VrVrb {ÌH$moU ¶m§Mr dOm~mH$s {H$Vr ¶oVo ?

1) 16 2) 06 3) 10 4) 26
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1) In the following figure, if the middle vertical line is deleted, then what is the difference between

number of triangles in given figure and the figure obtained deleting the middle vertical line ?

1) 16 2) 06 3) 10 4) 26

2) nwT>rc AmH¥$VrÀ¶m aH$mÝ¶mV H«$‘e: 6 Vo 14 ¶m g§»¶m§Mr Aer ‘m§S>Ur H$am H$s, aH$mÝ¶m§Mr C^r, AmS>dr, {VaH$g ~oarO
g‘mZ ¶oVo, Va H$monè¶mVrc aH$mÝ¶mV H$moUË¶m g§»¶m ¶oVrc ?

1) 4,6,10,8 2) 7,9,13,11 3) 6.8,14,12 4) 7,12,6,8
2) Filled the numbers from 6 to 14 sequentially in the columns of the following figure in such a way

that their vertical, horizontal, diagonal sums are equal, then what will be the numbers in columns

at corners ?

1) 4,6,10,8 2) 7,9,13, 11 3) 6,8,14,12 4) 7,12,6,8

2) H«$‘nyVu

1) àíZ{MÝhmEodOr Vm{H©$H$ÑîQ>çm C{MV n¶m©¶mMr {ZdS> H$am.

1)  2) 3) 4) 
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1) Select the logically appropriate option to replace.the.question-mark. .....

1)  2) 3) 4) 

3) KS>r, Amagm, Obà{V‘m

1) nwT>rb nmaXe©H$ H$mJX Aä¶mgm Am{U C{MV EH$ Am¶VmH$ma XoUmar KS>r {ZdS>m.

1)  2) 3) 4) 

1) Study the following transparent paper sheet and select the appropriate single rectangular fold that

it would give.

1)  2) 3) 4) 
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4) KZmdarb àíZ

1) Imbrb AmH¥$Ë¶m§Mo {ZarjU H$am Am{U AMyH$ CÎmamMm n¶m©¶ {ZdS>m.

M ho Aja Agboë¶m n¥ð>mÀ¶m {déÕ n¥ð>mda H$moUVo Aja ¶oB©b ?
1) Q 2) L 3) O 4) P

1) Obeewe the following figures and select the option of correct answer.

Which letter will be on opposite face to M ?

1) Q 2) L 3) O 4) P

5) doZ AmH¥$Vr

1) "eãX" "XmoZ ñda Agcoco eãX", "nmM ñda Agcoco eãX" ¶mgmR>r Imcrc n¶m©¶mVyZ AMyH$ doZ AmH¥$Vr {ZdS>m.

1) 2) 3) 4) 

1) Choose proper Venn diagram for ‘words’, ‘words having two vowels’, ‘words having five vowels’.

1) 2) 3) 4) 

8) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi

g§»`màUmbr

1) ZD$À¶m nQ>rV ¶oUmè¶m n{hë¶m nmM A§H$m§Mr gamgar H$mT>m.
1) 20 2) 27 3) 28 4) 30

1) Find the average of the first five multiples of 9.

1) 20 2) 27 3) 28 (4) 30

2) 8, 11, 20, 29 ¶m g§»¶m‘YyZ H$moUVr g§»¶m H$‘r H$amdr åhUOo ¶m g§»¶m à‘mUmV ¶oVrc ?
1) 1 2) 2 3) 3 4) 4

2) Which of the following number is to be subtracted from 8, 11, 20, 29, then we will get these

numbers in proportion ?

1) 1 2) 2 3) 3 4) 4
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 bgm{d, ‘gm{d

1) 5, 7, 20 ¶m§Zr {d^mÁ¶ Agbobm gdm©V bhmZ nyUmªH$ H$moUVm ?
1) 35 2) 200 3) 280 4) 140

1) What is the smallest integer that is multiple of 5, 7 and 20 ?

1) 35 2) 200 3) 280 4) 140

2) XmoZ g§»¶m§Mo JwUmoÎma 3 … 4 Amho Ë¶m§Mm bgm{d 84 Amho Va Ë¶m g§»¶m H$moUË¶m ?
1) 18, 24 2) 21, 28 3) 24, 32 4) 30, 40

2) Two numbers are in the ratio 3 : 4 and their LCM is 84 then the numbers are

1) 18,24 2) 21,28 3) 24,32 4) 30,40

dJ©‘yi Am{U KZ‘yi

1) Oa √3 = 1.732 Agob Va Imbrb g‘rH$aUmMr qH$‘V H$mT>m.

√192 -
  1  

√48 - √75
           2

1) 6.928 20 5.196 3) 1.732 4) 3.464

1) If √3 =1.732 find the value of the following

√192 -
   1  

√48 - √75
                2

1) 6.928 2) 5.196 3) 1.7832 4) 3.464

2) AMyH$ CÎma emoYm.

1) 181 2) 19 3) 38 4) 361
2) Find the correct answer.

1) 181 2) 19 3) 38 4) 361

3) Imbrb S>oQ>m‘Yrb ’$aH$mMm bmoH$g§»`m JwUm§H$ Amho :
8, 9, 7, 10, 8, 6

1) 2) 3) 4) 

3) Population Coefficient of Variation from the following data is :

8, 9, 7, 10, 8, 6

1) 2) 3) 4) 
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9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
1) 3x3 - 8x2 + x + 7 ¶m ~hþnXrbm x - 2 ~hþnXrZo g§íbofH$ nÜXVrZo ^mJm Am{U CÎma ^mÁ¶ = ^mOH$ × ^mJmH$ma

+ ~mH$s ¶m ê$nmV {bhm.
1) 3x3 - 8x2 + x + 7 = (x2) (3x2 + 2x + 3) + 1

2) 3x3- 8x2 + x + 7 = (x2) (3x2 - 2x + 3) + 13

3) 3x9 - 8x2 + x +7 = (x-2) (3x2 + 2x-3) + 1

4) 3x3 - 8x2 + x + 7 = (x - 2) (3x2 - 2x - 3) + 1

1) Use synthetic division to divide 3x3 - B82 + x + 7 by x - 2 and write the answer dividend = divisor

× quotient + remainder

1) 3x3 - 8x2 + x + 7 = (x2) (3x2 + 2x + 3) + 1

2) 3x3- 8x2 + x + 7 = (x2) (3x2 - 2x + 3) + 13

3) 3x9 - 8x2 + x +7 = (x-2) (3x2 + 2x-3) + 1

4) 3x3 - 8x2 + x + 7 = (x - 2) (3x2 - 2x - 3) + 1

2) Imbrb g‘rH$aUmMr qH$‘V H$mT>m.
(0.654 × 0.654) - (0.596 × 0.596)
             0.654 - 0.596
1) 1.15 2) 1.25 3) 0.058 4) 0.389784

2) Find the value of the following

(0.654 × 0.654) - (0.596 × 0.596)

          0.654 - 0.596

1) 1.15 2) 1.25 3) 0.058 4) 0.380784

3) Oa 484 x 5 x 144 = 69696 Va x =?

1) 48.4 2) 4.84 3) 2.00 4) 2.2
3) If 484 x x 144 = 69696, then x =?

1) 48.4 2) 4.84 3) 2.00 4) 2.2

4) 3.65 × 3.65 + 2.35 × 2.35-2 × 2.35 × 3.65 = ?
                               169

1) 1.69 2) 2.35 3) 3.65 4) 1

4) 3.65 × 3.65 + 2.35 × 2.35-2 × 2.35 × 3.65 = ?
                              1.69

1) 1.69 2) 2.35 3) 3.65 4) 1

5) Oa 6 H$mJXr nwQ²>Q>çm§Mo dOZ 45 J«°‘ Agoc, Va 1500 J«°‘ dOZmÀ¶m Ë¶mM àH$maÀ¶m H$mJXmnmgyZ {H$Vr H$mJXr nwÅ>o
~Z{dVm ¶oVrc ?
1) 45 2) 90 3) 200 4) 180

5) If weight of 6 sheets of paper be 45 gram, how many sheets of same paper would weigh 1500

gram ?

1) 45 2) 90 3) 200 4) 180
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10) Q>̧ o$dmar, doZ AmH¥$Ë`m§darb g‘ñ`m, gamgar, g§̂ mì`Vm

 Q> o̧$dmar
1) amOyMm nJma AJmoXa 10% Zr H$‘r Ho$bm d Z§Va VoOr‘wio Vmo 20% Zr dmT>{dbm Va ‘yiÀ¶m nJmamV {H$Vr Q> o̧$ dmT>

Pmbr ?
1) 12 2) 9 3) 8 4) 10

1) Raju’s salary was first reduced by 10% and then increased by 20% due to upturn. So what percent

increase in original salary ?

1) 12 2) 9 3) 8 4) 10

2) EH$ hoŠQ>a eoVO‘rZ H$m`‘ñdê$nr ̂ mS>oVÎdmda 10,000 én ò dm{f©H$ ̂ mS>çmZo XoÊ`mV Ambr Amho. ̂ mS>o àË òH$ dfm©À`m
eodQ>r {Xbo OmB©b. à{Vdf© 5% gdbV Xa J¥hrV Yaë¶mg O{‘ZrMo {Zìdi dV©‘mZ ‘yë` ...... Amho.
1) é. 2,50,000 2) é. 2,25,000 3) é. 2,20,000 4) é. 2,00,000

2) One hectare of agricultural land has been given on lease till perpetuity at an annual rent of Rs.

10,000, to be paid at the end of each year. Net Present Value of the land parcel, assuming a

discount rate of 5% per annum, is ......

1) Rs. 2,50,000 2) Rs. 2,25,000 3) Rs. 2,20,000 4) Rs. 2,00,000

3) 20 dfmªnydu ~m§Yboë`m B‘maVrMo gÜ`mMo ‘yë` 7, 60,000 R>adm. B‘maVrMo A§XmOo Am ẁî` 60 df} Amho, Á`mÀ`m eodQ>r
{VÀ`m ~m§YH$m‘ IMm©À`m 10% §̂Jma ‘yë` Agob. Kgmam gai aofoÀ`m nÕVrZo ‘moObm OmVmo.
1) é. 44,000 2) é. 45,000 3) é. 42,000 4) é. 40,000

3) Determine the present value of a building that was constructed 20 years ago at 7, 60,000. The

estimated life of the building is 60 years, at the end of which it will have 10% scrap value of its

cost of construction. Depreciation is to be calculated by straight line method.

1) Rs. 44,000 2) Rs. 45,000 3) Rs. 42,000 4) Rs. 40,000

 doZ AmH¥$Ë`m§darb g‘ñ`m
1) 112 ì`º$s¨À`m JQ>mV, A{n©Vmbm ’$º$ 32 BVa ì`º$s¨nojm OmñV JwU {‘imbo AmhoV. ’$º$ 16 OUm§Zm A‘Znojm H$‘r

nU bH$snojm OmñV JwU {‘imbo AmhoV. Ho$di 57 OUm§Zm bH$snojm H$‘r JwU {‘imbo AmhoV. A‘Zbm BVa 37
bmoH$m§nojm H$‘r JwU {‘imbo AmhoV. bH$s nojm H$‘r nU A{n©Vmnojm {H$Vr OUm§Zm OmñV ‘mH©$ {‘imbo AmhoV?
1) 22 2) 23 3) 24 4) 25

1) In a group of 112 persons, Arpita scores more marks than only 32 other persons. Only 16 persons

score lesser than Aman but more than Lucky. Only 57 persons score lesser marks than Lucky.

Aman scores lesser marks than only 37 other persons. How many persons score lesser marks

than Lucky but more marks than Arpita?

1) 22 2) 23 3) 24 4) 25

2) EH$m ‘hm{dÚmc¶mV EHy$U 600 {dÚmWu AmhoV. àË¶oH$mg EH$ Va B§J«Or qH$dm qhXr qH$dm XmoÝhr {df¶ {Xco. Oa 75%
{dÚmÏ¶mªZm B§J«Or d 45% {dÚmÏ¶mªZm qhXr {df¶ {Xcm Agoc Va XmoÝhr {df¶ KoUmè¶m {dÚmÏ¶mªMr g§»¶m H$mT>m.
1) 48 2) 60 3) 80 4) 120

2) There were 600 students in a college. Each was offered cither Fnglish or Hindi or both. If 75%

students offered F nglish and 45% Hinde fier many students offered both ?

1) 48 2) 60 3) 80 4) 120
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gamgar

1) nm§M g§»¶m§Mr gamgar 25 Amho. Oa Ë¶m§À¶mVrb Mma g§»¶m 30, 29, 25 d 20 AgVrb Va Ë¶m§À¶mVrb VrZ ‘moR>çm
g§»¶m§Mr gamgar {H$Vr ?
1) 26 2) 27 3) 28 4) 29

1) The average of five numbers is 25. If four of the numbers are 30,29,25 and 20, then the average of

the three larger numbers is

1) 26 2) 27 3) 28 4) 29

2) nmM g§»¶m§Mr gamgar 25 Amho. Oa Ë¶m§À¶mVrc Mma g§»¶m 30,29,25 d 20 AgVrc Va Ë¶m§À¶mVrc VrZ ‘moR>çm
g§»¶m§Mr gamgar {H$Vr ?
1) 26 2) 29 3) 27 4) 28

2) The average of five numbers is 25. If four of these numbers are 30, 29, 25 and 20, then what is

average of larger three numbers ?

1) 26 2) 29 3) 27 4) 28

3) Imbrb S>oQ>m‘YyZ AZwH«$‘o ‘rZ, ‘mÜ`, ‘moS> AmhoV :
43, 48, 38, 54, 43, 40, 50, 43, 35, 48

1) (44.2,43.43) 2) (43.2,43,43) 3) (44.2,44,43) 4) (44.2,43.5,43)

3) The Mean, Median, Mode respectively from the following data are :

43, 48, 38, 54, 43, 40, 50, 43, 35, 48

1) (44.2,43.43) 2) (43.2,43,43) 3) (44.2,44,43) 4) (44.2,43.5,43)

4) 5, 10, 20 Mm A§H$J{UVr` ‘mÜ`, ^m¡{‘{VH$ ‘mÜ` Am{U hm‘m}{ZH$ ‘rZ AmhoV :

1) 2) 3) 4) 

4) The arithmetic mean, geometric mean, and harmonic mean of 5, 10, 20 are :

1) 2) 3) 4) 

5) 400 H$‘©Mmè`m§À`m `mÑpÀN>H$ Z‘wÝ`mV gmYmaUnUo {dV[aV ‘moR>çm bmoH$g§» òMo gamgar dOZ 65.17 {H$bmo Am{U
3.30 {H$bmoMo ‘mZH$ {dMbZ Agbobo gamgar dOZ 65.38 {H$bmo Agë`mMo AmT>iyZ Ambo Amho, Oo gamgar
dOZmÀ`m J¥{hVH$m§Mr MmMUr KoÊ`mgmR>r H$mT>bo Amho. 95% AmË‘{dídmg. Z‘wÝ`mMr ‘mZH$ ÌwQ>r gamgar Amho:
1) 0.2100 2) 0.0105 3) 0.0908 4) 0.1650

5) A random sample of 400 employees is found to have a mean weight of 65.38 kg from a normally

distributed large population with a mean weight of 65.17 kg and a standard deviation of 3.30 kg,

which is drawn to test the hypotheses of mean weight at 95% confidence. The standard error of

the sample mean is equal to :

1) 0.2100 2) 0.0105 3) 0.0908 4) 0.1650
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6) Imbrb S>oQ>mMo 'Am°{Jìhnojm H$‘r' Am{U 'Amo{Jìhnojm OmñV' òWo ôQ>VmV :
4, 6, 6, 8, 5, 0, 9, 5, 0, 7
1) 5.0 2) 5.2 3) 5.5 4) 5.8

6) ‘Less than ogive’ and ‘More than ogive’ of following data meet at :

4, 6, 6, 8, 5, 0, 9, 5, 0, 7

1) 5.0 2) 5.2 3) 5.5 4) 5.8

7) Imbrb S>oQ>m‘Yrb {S>gmB©b-7 Amho :
10, 50, 30, 20, 10, 20, 70, 30

1) 34 2) 35 3) 36 4) 37

7) The deciles-7 from the following data is :

10, 50, 30, 20, 10, 20, 70, 30

1) 34 2) 35 3) 36 4) 37

8) g‘Om EImXm H$maImZm EImXo V§ÌkmZ dmnaV Amho Oo 1000 Vmgm§Mo gamgar Am ẁî` Agbobo ~ë~ V`ma H$aVo. ZdrZ
V§ÌkmZmÛmao CËnm{XV ~ë~Mo gamgar Am ẁî` 1200 Vmgm§nojm OmñV Amho ho {dídmgmh© Agob VaM ì`dñWmnZ ZdrZ
V§ÌkmZ ñdrH$maÊ`mMr eŠ`Vm Amho. J¥hrVHo$ VnmgÊ`mgmR>r, g‘ñ`m Aer Amho:
1) H

0 
: µ = 1200 Am{U H

2 
: µ ≠ 1200 2) H

0 
: µ < 1200 Am{U H

2 
: µ > 1200

3) H
0 
: µ < 1200 Am{U H

2 
: µ > 1200 4) H

0 
: µ < 1200 Am{U H

2 
: µ > 1200

8) Suppose a factory is using a technology which produces bulbs with an average life of 1000 hours.

The management is likely to adopt the new technology only if it is trustworthy that the average

life of bulbs produced by the new technology exceeds 1200 hours. For testing the hypothesis, the

problem is :

1) H
0 
: µ = 1200 and H

2 
: µ ≠ 1200 2) H

0 
: µ < 1200 and H

2 
: µ > 1200

3) H
0 
: µ < 1200 and H

2 
: µ > 1200 4) H

0 
: µ < 1200 and H

2 
: µ > 1200

g§^mì`Vm

1) XñVEodO Q>mQ>mZJa qH$dm H$bH$Îmm òWyZ àmá Pmë`mMo kmV Amho. ‘wIn¥ð>mda, ’$º$ XmoZ gbJ Ajao TA ñnï>nUo
Ñûm`‘mZ AmhoV, Aemdoir TATANAGAR H$Sy>Z XñVEodO àmá hmoÊ`mMr g§̂ mì¶Vm Amho :

1)   3  . 2)   5  . 3)   7  . 4)   9  .
     11      11       11      11

1) A document is known to have received either from TATANAGAR or from CALCUTTA. On the

cover, just two consecutive letters TA are clearly visible. The probability that the document received

from TATANAGAR is :

1)   3  . 2)   5  . 3)   7  . 4)   9  .

     11      11       11      11

2) am‘Zo EH$ ZmUo 40 doim ’o$H$bo Am{U Ë`mbm 15 doim N>mnm {‘imbm. í`m‘Zo VoM ZmUo 60 doim ’o$H$bo Am{U Ë`mbm
35 doim H$mQ>m {‘imbm. ¶oWo Ooìhm ZmUo ’o$H$bo OmVo Voìhm N>mnm {‘iÊ`mMr H$‘mb g§̂ mì`Vm {H$Vr Amho ?

1)   1  . 2)   2  . 3)   1   . 4)   2  .
      5       5       3       3
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2) Ram tossed a biased coin 40 times and got a head 15 times while Shyam tossed the same coin 60

times and got 35 tails. The maximum likelihood estimate of the probability of getting a head

when the coin is tossed is :

1)   1  . 2)   2  . 3)   1   . 4)   2  .

      5       5       3       3

3) A Am{U B ñdV§Ì KQ>Zm AmhoV Ogo H$s P(A) = 0.63, P(B) = 0.34. {H$‘mZ EH$ KQ>Zm KS>Ê`mMr eŠ`Vm Amho:
1) 0.7558 2) 0.6356 3) 0.3456 4) 0.2142

3) Let A and B are independent events such that P(A) = 0.63, P(B) = 0.34. The probability of

occurrence of at least one event is :

1) 0.7558 2) 0.6356 3) 0.3456 4) 0.2142

4) Oa P(A) =   3   P(B) =   2   Am{U P(A ∩ B) =   1   , Va P(B | ) Mr qH$‘V Amho :
                5              7                          4

1)   3  . 2)   5  . 3)   7  . 4)   9  .
     56      56      56      56

4) If P(A) =   3   P(B) =   2   and P(A ∩ B) =   1  , then the value of P(B | ) is :
                  5                  7                                 4

1)   3  . 2)   5  . 3)   7  . 4)   9  .

     56      56      56      56

5) Oa H|$Ðr` ‘¥Ë ỳ Xa m40 = 0.2 Agob, Va 40 Vo 41 d`moJQ>mVrb ì`º$sÀ`m ‘¥Ë ỳMr g§̂ mì`Vm Imbrbà‘mUo Amho:
1) 1/11 2) 2/11 3) 3/11 4) 4/11

5) If the central mortality rate m40 = 0.2, then the probability of dying of a person between the age

interval 40 and 41 is:

1) 1/11 2) 2/11 3) 3/11 4) 4/11

H«$‘M¶

1) {H«$Ho$Q>Mo g§K H«$sS>m ‘hmoËgdmV gh^mJr Pmbo. àË¶oH$ g§KmZo Xþgè¶m g§Kmgmo~V àË¶oH$s EH$ gm‘Zm Ioibm. ¶m
gm‘Ý¶mVyZ Mma g§KmMr {ZdS> H$aÊ¶mV Ambr. ¶mVrb EH$m g§KmZo Xþgè¶m g§Kmgmo~V àË¶oH$s EH$ gm‘Zm Ioibm. eodQ>r
XmoZ g§KmMr {ZdS> A§{V‘ gm‘Ý¶mgmR>r H$aÊ¶mV Ambr. d Ë¶m§Zr A§{V‘ gm‘Zm Ioibm. Va ¶m H«$sS>m ‘hmoËgdmV EHy$U
{H$Vr gm‘Zo IoiÊ¶mV Ambo ?
1) 55 2) 61 3) 62 4) 65

1) Total 11 cricket teams were participated in sport festival. Every team played one match against

another team. The four teams selected from these matches, played one match each against each o

ther. Finally two teams were selected which played final match. How many matches were played

in the tournament of sport festival ?

1) 55 2) 61 3) 62 4) 65
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2) 20 n°Ho$Q²gÀ`m nwR²>R>çmVyZ H$mT>boë`m ImÚVobmÀ`m 5 n°Ho$Q²gMm EH$ gmYm `mÑpÀN>H$ Z‘wZm {ZdS>Ê`mÀ`m nÕVtMr
g§»`m Amho :
1) 205 2) 20 × 19 × 18 × 17 × 16

3)     20!    . 4)  20! .

      5! 15!       5!

2) The number of ways to select a simple random sample of 5 packets of edible oil with distinct

combinations drawn from a carton of 20 packets is :

1) 205 2) 20 × 19 × 18 × 17 × 16

3)      20!    . 4)  20! .

       5! 15!       5!

11) JwUmoÎma Am{U à‘mU, ^mJrXmar, {‘lU, gmIir {Z`‘, H«$‘

JwUmoÎma Am{U à‘mU, ^mJrXmar

1) emioV 768 {dÚmÏ¶mªZm am§JoV C ô amhÊ¶mg gm§{JVco. àË¶oH$ am§JoV OodT>o {dÚmWu AmhoV Ë¶mÀ¶m 1/3 am§Jm§Mr g§»¶m
Amho, Va àË¶oH$ am§JoV {H$Vr {dÚmWu AmhoV ?
1) 32 2) 48 3) 27 4) 54

1) In the school, 768 students were told to stand in rows. The number of rows are 1/3 the number of

students in each row. Then how many students are in each row ?

1) 32 2) 48 3) 27 4) 54

2) Am{XV 2021 ¶m n{hë¶m {Xder 1 é., Xþgè¶m {Xder 3 é. Am{U {Vgè¶m {Xder 5 é. ~MV H$aVmo, d AgoM nwT>o
gwê$ R>odVmo. Ë¶m dfm©Vrb Ë¶mÀ¶m ~MVrMr EHy$U a¸$‘ emoYm.
1) é.1,33,225 2) é.1,32,225 3) é.1,23,225 4) é.1,34,225

2) In the year 2021, Aadit saves Rs.1 on first day, Rs.3 on second day and Rs.5 on third day and so on.

Find the total amount of his saving in that year.

1) Rs.1,33,225 2) Rs.1,32,225 3) Rs.1,23,225 4) Rs.1,34,225

3) gmoZyZo ‘mJÀ¶m AmR>dS>çmV IM© Ho$boë¶m hmVIMm©Vrb aH$‘oMr ñdV…À¶m g§JUH$mda Zm|X Ho$br. AnKmVmZo {VMr {dXm
EH$Ì Pmbr Am{U AmVm Vr ~mOyÀ¶m gmaUrV XmIdë¶mZwgma {XgVo Amho. Ë¶mVrb {Xdgmg‘moa qH$dm gd© {Xdgm§g‘moa
{b{hbobr a¸$‘ ~amo~a Agob Ago Zmhr. gmo‘dma d ‘§JidmaMr EHy$U a¸$‘ a{ddma d ~wYdmaÀ¶m EHy$U aH$‘onojm OmñV
hmoVr ho {Vbm AmR>dVo Amho. a{ddma Am{U ‘§JidmaMr EHy$U a¸$‘ gmo‘dma d ~wYdmaÀ¶m aH$‘onojm OmñV Agë¶mMohr
{Vbm AmR>dVo Amho.
{Xboë¶m ‘m{hVrÀ¶m g§X^m©V EH$‘od MwH$sMo {dYmZ {ZdS>m.
{Xdg a¸$‘
a{ddma 52
gmo‘dma 41
‘§Jidma 25
~wYdma 18
1) a{ddmaMr a¸$‘ gmo‘dmaÀ¶m aH$‘onojm OmñV Amho 2) gmo‘dmaMr a¸$‘ ‘§JidmaÀ¶m aH$‘onojm OmñV Amho
3) ‘§JidmaMr a¸$‘ ~wYdmaÀ¶m aH$‘onojm OmñV Amho 4) ~wYdmaMr a¸$‘ a{ddmaÀ¶m aH$‘onojm OmñV Amho
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3) Sonu recorded the amount of pocket money that she did spend during last week on her computer.

Her data got mixed up accidentally and now her table, shown alongside may not show the correct

amounts next to some or all of the days. She remembers that the combined amount of Monday

and Tuesday was more than the combined amount for Sunday and Wednesday. She also remember

that the combined amount for Sunday and Tuesday was more than the combined amount for Monday

and Wednesday.

Select the only false statement with respect given information.

Day Amount

Sunday 52

Monday 41

Tuesday 25

Wednesday 18

1) Sunday’s amount is more than Monday’s amount

2) Monday’s amount is more than Tuesday’s amount

3) Tuesday’s amount is more than Wednesday’s amount

4) Wednesday’s amount is more than Sunday’s amount

4) doJdoJù¶m JmdmVrb eoVH$è¶m§Mr EH$m {XdgmMr ‘Owar Imbr {Xbobr Amho.
Jmd EH$m {XdgmMr ‘Owar
A é.185
B é.125
C é.93
D é.87

Am{ef hm A Jmdm‘Ü¶o 105 {Xdg H$m‘ H$aVmo Am{U aoUy hr C Jmdm‘Ü¶o 180 {Xdg H$m‘ H$aVo. H$moU OmñV Am{U
{H$Vr H$‘mdVo ?
1) Am{ef, aoUynojm é.2,685 OmñV H$‘mdVmo.
2) aoUy, Am{efnojm é.2,685 OmñV H$‘mdVo
3) XmoKohr gmaIoM H$‘mdVmV
4) a¸$‘Mr VwbZm hmoD$ eH$V Zmhr H$maU EH$m {XdgmMr ‘Oyar hr gmaIr Zmhr

4) The wages of the farmers in different villages for one day as given below :

Village Wages for 1 day

A Rs. 185

B Rs. 125

C Rs. 93

D Rs. 87

Ashish workes in a village 'A' for 105 days and Reu works in a village 'C' in 180 days. Who earn

more and by how much ?

1) Ashish, he earn Rs.2,685 more than Renu

2) Renu, she earn Rs.2,685 more than Ashish

3) Both earn equal amount

4) Can't compare the amount as the wages for one day are not equal



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ~w{Õ‘mnZ MmMUr d A§H$J{UV / 45

{‘lU, gmIir {Z`‘
1) n°am{gQ>m‘m°bÀ`m Ðd S>mog‘Ü ò 240 mg/5 mL n°am{gQ>°‘m°c AgVo. ~mbamoJmMm Zoh‘rMm S>mog earamÀ`m dOZmÀ`m 15

{‘J«°/{H$J«° AgVmo. 25 {H$bmo dOZ Agboë`m 8 dfm©À`m ‘wbmbm S>mog åhUyZ {H$Vr Ðd Úmdo?
1) 4.16 mL 2) 7.81 mL 3) 15.63 mL 4) 10.0 mL

1) A liquid dosage form of paracetamol contains 240 mg/5 mL of paracetamol. The usual paediatric

dose is 15 mg/Kg of body weight. How much liquid should be given as a dose to an 8-year-old

child having 25 kg of body weight?

1) 4.16 mL 2) 7.81 mL 3) 15.63 mL 4) 10.0 mL

2) àm¡T> ì`º$sMm gamgar S>mog 20 {‘brJ«m‘ Agë`mg 50 nm¢S> Agboë`m ‘wbmgmR>r S>mog {H$Vr Amho?
1) 6.2 2) 6.6 3) 6.9 4) 6.1

2) What is the dose for a 50 lb child if the average adult dose is 20 mg?

1) 6.2 2) 6.6 3) 6.9 4) 6.1

3) ^mS>onÅ>rÀ`m ‘mb‘ÎmogmR>r 50 dfmªÀ`m Cd©[aV brO H$mbmdYrgh (dfm©Mr IaoXr 10 Amho) Am{U {Zìdi XoI^mb
H$aÊ`m`mo½` dm{f©H$ ^mS>o é. 3,00,000?
1) é. 3,000,000 2) é. 1,000,000 3) é. 2,000,000 4) é. 6,000,000

3) Calculate the fair market value for a leasehold property with remaining lease period of 50 years

(year’s purchase is 10) and having net maintainable annual rent as Rs. 3,00,000?

1) Rs. 3,000,000 2) Rs. 1,000,000 3) Rs. 2,000,000 4) Rs. 6,000,000

4) ‘wbmMo d` 10 df} Amho. EImÚm {d{eï> Am¡fYmMr àm¡T> S>mog 500 {‘J«° Amho. ‘wbmgmR>r g‘mZ Am¡fYmMm ̀ mo½` S>mog H$m`
Agob?
1) §̀JÀ`m {Z`‘mZwgma 227 {‘J«° 2) §̀JÀ`m {Z`‘mZwgma 250 {‘J«°
3) {S>qbJÀ`m {Z`‘mZwgma 227 {‘brJ«m‘ 4) H°$Q>PobÀ`m {Z`‘mZwgma 275 {‘brJ«m‘

4) The age of a child is 10 years. The adult dose of a particular drug is 500 mg. What will be an

appropriate dose of the same drug for the child?

1) 227 mg as per Young’s rule 2) 250 mg as per Young’s rule

3) 227 mg as per Dilling’s rule 4) 275 mg as per Catzel’s rule

H«$‘
1) {V{H$Q>mÀ`m am§JoV Cä¶m Agboë¶m O¶À¶m ‘mJo 17 ì¶º$s Am{U nwT>o 21 ì¶º$s AmhoV, Va eodQy>Z Zdì¶m ì¶º$sMm nwTy>Z

H«$‘m§H$ {H$Vr ?
1) 30 2) 28 3) 31 4) 29

1) 17 people are behind and 21 people are ahead of Jay who is standing in the ticket queue, then what

is the number of a person from front who is at 9h place from last ?

1) 30 2) 28 3) 31 4) 29

2) XmoZ d¥jcmJdS>rVrc A§Va 3.5 ‘r. BVHo$ Agë¶mg 140 ‘r. cm§~rÀ¶m añË¶mda EHy$U {H$Vr d¥j cmdmdr.
1) 30 2) 31 3) 40 4) 41

2) If distance between two tree plantations is 3.5 meters, then how many trees will be planted on the

road of length 140 masters ?

1) 30 2) 31 3) 40 4) 41
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3) {dnwc h§gnojm C§M Amho. h§g AmZ§Xnojm C§M Amho. AbmoH$ AemoH$nojm C§M Amho. AemoH$ [dnwbnojm C§M Amho. Va gdm©V
bhmZ H$moU Amho ?
1) AmZ§X 2) AbmoH$ 3) AemoH$ 4) h§g

3) Vipul is taller than a Hans. Hans is taller than Anand. Alok is taller than Ashok. Ashok is taller than

Vipul. So who is the shortest?

1) Anand 2) Alok 3) Ashok 4) Hans

4) 100 nwñVH$m§À¶m JR²>R>çmV B{Vhmg, ŷJmob, g§ñH¥$V d {dkmZ ¶m H«$‘mZo nwñVHo$ R>odë¶mg 79 ì¶m H«$‘m§H$mda H$moUË¶m
{df¶mMo nwñVH$ Agob ?
1) B{Vhmg 2) ŷJmob 3) g§ñH¥$V 4) {dkmZ

4) In a stack of 100 books, if the books are placed in the order of History, Geography, Sanskrit and

Science, which subject book will be number 79?

1) History 2) Geography 3) Sanskrit 4) Science

5) H$mhr {dÚmWu EH$m gai aofoV ~gbobo AmhoV, gd© CÎma {Xeobm Vm|S> H$ê$Z AmhoV. a{MV Am{U ‘hrn‘Ü ò ’$º$ 13
{dÚmWu ~gbo AmhoV. AãXwb Am{U ‘hrn‘Ü ò ’$º$ 11 {dÚmWu ~gbo AmhoV. H$m{V©H$ EH$m AmoirÀ`m Q>moH$mbm ~gbm
Amho. em‘H$ S>mì`m Q>moH$mnmgyZ 20 ì`m ñWmZmda Amho. amO em‘H$À`m S>mdrH$S>o ~gbm Amho, XmoKm§‘Ü ò nmM {dÚmWu
AmhoV. a{MV EH$m AmoirÀ`m Q>moH$mbm ~gbm Amho. AãXwb COì`m Q>moH$mnmgyZ 27 ì`m ñWmZmda Amho. a{MV ‘hrnÀ`m
COdrH$S>o Amho. em‘H$ AãXwbÀ`m S>mdrH$S>o 8 ì`m ñWmZmda ~gbm Amho. {H$Vr {dÚmWu am§JoV ~gbo AmhoV?
1) 52 2) 53 3) 54 4) 55

5) A certain number of students are sitting in a straight line, all facing the north direction. Only 13

students are sitting between Rachit and Maheep. Only 11 students are sitting between Abdul and

Maheep. Kartik is sitting at one of the line ends. Shamak is at the 20th place from the left end. Raj

is sitting towards the left of Shamak, with five students between both of them. Rachit is sitting at

one of the line ends. Abdul is at the 27th place from the right end. Rachit is towards the right of

Maheep. Shamak is sitting at the 8th place to the left of Abdul. How many students are sitting in

the line?

1) 52 2) 53 3) 54 4) 55

12) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘

doi Am{U A§Va, aoëdo

1) EH$m ‘moQ>maJmS>rZo 80 {H$.‘r. à{V Vmg ¶m gamgar doJ nwUo Vo ZmJnya ho A§Va H$mnÊ¶mg 9 Vmg cmJVmV. Oa Ë¶mM
JmS>rZo VoM A§Va 8 VmgmV H$mnco Va JmS>rMm gamgar doJ {H$Vr ?
1) 80 {H$‘r./Vmg 2)66.66 {H$‘r./Vmg 3) 90 {H$‘r./Vmg 4)120 {H$‘r./Vmg

1) A car takes 9 hours to travel from Pune to [dagpur ai an average speed 80 km/hr.

If the same car has to cover the same distance in 8 hrs. what should be the average speed of the

car?

1) 80 km/hr. 2) 66.66 km/hr. 3) 90 km/hr. 4) 120 km/hr.
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2) VrZ {H$‘r bm§~rÀ¶m dVw©imH$ma Q´>°H$da XmoZ YmdnQy> EH$mM {XeoZo YmdVmV. doJdmZ YmdnQy> Xa 1 VmgmZo hiy YmdnQy>bm
‘mJo Q>mH$Vmo. doJdmZ YmdnQy>Zo Q´>°H$Mr 1 {H$‘r bm§~r hiy YmdnQy>nojm 2 {‘{ZQ>o bdH$a nyU© Ho$br, Va hiy YmdnQy>Mm doJ
emoYm.
1) 20 {H$‘r/Vmg 2) 18 {H$‘r/Vmg 3) 15 {H$‘r/Vmg 4) 12 {H$‘r/Vmg

2) Two runners run in the same direction on a circular track of length three km. A faster runner

overtakes a slower runner every 1 hour. If the faster runner completes the 1 km length of the track

2 minutes faster than the slower runner, find the speed of the slower runner.

1) 20 km/hr 2) 18 km/hr 3) 15 km/hr 4) 12 km/hr

3) EH$m ‘moQ>maJmS>rZo 50 {H$‘r. à{V Vmg ¶m gamgar doJmZo nwUo Vo ‘w§~B© ho A§Va H$mnÊ¶mg 6 Vmg cmJVmV. Oa Ë¶mM
‘moQ>maJmS>rZo VoM A§Va 4 VmgmV H$mnco Va JmS>rMm gamgar doJ {H$Vr ?

1) 60 {H$‘r/Vmg 2) 45 {H$‘r/Vmg 3) 33   1   {H$‘r/Vmg 4) 75 {H$‘r/Vmg
         3

3) A car takes 6 hours to travel from Pune to Mumbai at an average speed 50 Km/h. If the same car

covers the same distance in 4 hours, what should be the average speed of the car ?

1) 60 Km/h 2) 45 Km/h 3) 33   1   Km/h 4) 75 Km/h
            3

4) gc‘m AÜ¶m© Vmgm‘Ü¶o 540 eãX Q>mB©n H$aVo. Va ghm {‘{ZQ>m‘Ü¶o Vr {H$Vr eãX Q>mB©n H$aoc ?
1) 108 2) 180 3) 36 4) 60

4) Salama types 540 words in 30 minutes. How many words will she type in 6 minutes ?

1) 108 2) 180 3) 36 4) 60

5) AO¶ d AVwb ho A Vo B n¶ªV AZwH«$‘o 17 {H$‘r/Vmg Am{U 19 {H$‘r/Vmg doJmZo àdmg H$aVmV. A hm B nmgyZ
72 {H$‘r Xÿa Amho. AVwb àW‘ B n¶ªV nmohmoMyZ bJoM naVbm Am{U C ¶oWo AO¶bm ̂ oQ>bm. B Am{U C ‘Yrb A§Va
{H$Vr Amho ?
1) 10 {H$‘r 2) 4 {H$‘r 3) 15 {H$‘r 4) 36 {H$‘r

5) Ajay and Atul each travel from A to B at 17 kmph and 19 kmph respectively. A is 72 km away from

B. Atul reaches first at B and meets Ajay at C. Find the distance between B to C.

1) 10km 2) 4km 3) 15km 4) 36km

6) q~Xÿ A hm q~Xÿ B À¶m nyd}bm 9 {H$‘r A§Vamda Amho. q~Xÿ C hm q~Xÿ A À¶m X{jUobm 5 {H$‘r A§Vamda Amho. q~Xÿ D
hm q~Xÿ C À¶m npíM‘obm 3 {H$‘r A§Vamda Amho. q~Xÿ E hm q~Xÿ D À¶m CÎmaobm 5 {H$‘r A§Vamda Amho. q~Xÿ F hm q~Xÿ
D À¶m X{jUobm 7 {H$‘r A§Vamda Amho. Oa EH$ ì¶º$s q~Xÿ B nmgyZ q~Xÿ F n¶ªV B-E-A-C-D-F Aem [aVrZo MmbV
OmVo, Va Vr {H$Vr {H$‘r MmbV OmVo ?
1) 24 {H$‘r 2) 22 {H$‘r 3) 18 {H$‘r 4) 27 {H$‘r

6) Point A is 9 km east of point B. Point C is 5 km south of point A. Point D is 3 km west of point C.

Point A is 5 km north of point D. Point F is 7 km south of point D. If a person walks from point B

to point F in the manner B-E-A-C-D-F how many km does she walk?

1) 24 km 2) 22 km 3) 18 km 4) 27 km
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Q>mH$s / hm¡X, ~moQ> Am{U Obàdmh

1) "A', "~' Am{U "H$' ¶m VrZ nmB©nZo EH$ nmÊ¶mMr Q>mH$s 20 VmgmV ^aVo. "H$' Mr JVr hr "~' nojm XþßnQ> Amho Am{U
"~' Mr JVr "A' nojm {VßnQ> Amho, Va ’$º$ "A' nmB©nZo Vr nmÊ¶mMr Q>mH$s {H$Vr doimV ^aob ?
1) 200 Vmg 2) 205 Vmg 3) 352 Vmg 4) 400 Vmg

1) A cistern fills in 20 hours by three pipes A, B, C. The pipe C is twice fast as B and B is thrice fast

as A. How much time will pipe A alone take to fill the tank ?

1) 200 hrs 2) 205 hrs 3) 352 hrs 4) 400 hrs

2) X Am{U Y ¶m nmUr ^aÊ¶mÀ¶m dm{hÝ¶m AmhoV. Oa hm¡XmMm VimnmgyZ 2/3 ^mJ X dm{hZrÛmao ^abm Am{U Cd©[aV
^mJ Y dm{hZrÛmao ^abm Va hm¡X ^aÊ¶mgmR>r 14 {‘{ZQ>o bmJVrb. Oa hm¡XmMm VimnmgyZ 2/3 ^mJ Y dm{hZrÛmao
^abm Am{U Cd©[aV ^mJ X dm{hZrÛmao ^abm Va hm¡X ^aÊ¶mgmR>r 16 {‘{ZQ>o bmJVrb. Va hm¡X ^aÊ¶mgmR>r EH${ÌV
XmoÝhr dm{hÝ¶m§Ûmao {H$Vr {‘{ZQ>o doi bmJob Vo H$mT>m ?
1) 2.7 {‘{ZQ>o 2) 7.2 {‘{ZQ>o 3) 3.7 {‘{ZQ>o 4) 18 {‘{ZQ>o

2) X and Y are water filling channels. If cistern is filled from the bottom 2/3rd through channel X

and the remaining portion is filled through channel Y then it will take 14 minutes to fill the

cistern. If 2/3rd of the cistern is filled from the bottom through Y channel and the rest is filled

through X channel, it will take 16 minutes to fill the cistern. Then find how many minutes it will

take to fill the tank through both channels combined?

1) 2.7 minutes 2) 7.2 minutes 3) 3.7 minutes 4) 18 minutes

H$mi Am{U H$m‘

1) EH$ H$m‘ nyU© H$aÊ¶mgmR>r brZmbm 6 {Xdg bmJVmV. VoM H$m‘ H$aÊ¶mgmR>r ‘rZmbm 12 {Xdg bmJVmV Va Q>rZmbm
4 {Xdg bmJVmV. {VKtZr {‘iyZ H$m‘ Ho$ë¶mg Vo H$m‘ {H$Vr {XdgmV g§nob ?
1) 3 {Xdg 2) 2 {Xdg 3) 2.5 {Xdg 4) 3.5 {Xdg

1) Leena can complete some work in 6 days. Meena takes 12 days to complete the same work. And

Teena takes 4 days to do the same work. How long will it take to complete the work if all the three

of them work together ?

1) 3 days 2) 2 days 3) 2.5 days 4) 3.5 days

2) 8 ‘wco d 12 nwéf EH$ H$m‘ 9 {XdgmV nyU© H$aVmV. àË¶oH$ ‘wcmcm EImXo H$m‘ nyU© H$aÊ¶mg nwéfm§À¶m XþßnQ> doi
cmJVmo. Va VoM H$m‘ 12 nwéfm§Zm nyU© H$aÊ¶mg {H$Vr {Xdg cmJVrc ?
1) 8 2) 15 3) 9 4)12

2) 8 children and 12 mien complete a cerlain piece of wark ite 9 days. IT each child takes twice the

time taken hy a man to finish the worl in hoy many days will 12 men finish the same work 7

1) 8 2) 15 3) 9 4) 12

3) ndZ EH$ H$m‘ nyU© H$aÊ¶mg 12 {Xdg cmdVmo Va VoM H$m‘ OrdZ 6 {XdgmV nyU© H$aVmo Va ‘J XmoKo {‘iyZ Vo H$m‘
{H$Vr {XdgmV nyU© H$aVrc ?
1) 4 2) 6 3) 8 4) 10

3) Pawan can complete one work within 12 days but Jiwan completes same work within 6 days, then

how many days it requires to complete this work together ?

1) 4 2) 6 3) 8 4) 10
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13) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO

Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr

1) ‘Yy Zoh‘r 13 én¶o {H$‘Vrbm EH$ ¶mà‘mUo {‘iUmao gyn nm{H$Q> IaoXr H$aVmo. ‘mJÀ¶m AmR>dS>çmV Ë¶mMr qH$‘V
àË¶oH$s 11 én¶o BVH$s H$‘r Ho$br åhUyZ Ë¶mZo 36 nm{H$Q>o IaoXr Ho$br. ¶m AmR>dS>çmV nm{H$Q>m§À¶m {dH«$sda ''àË¶oH$s
XmoZ IaoXr H$am, EH$ ’w$H$Q> {‘idm'' Aer gyQ> XoD$ H§$nZrZo XoD$ Ho$br Amho. Aem pñWVrV, ¶m AmR>dS>çmV IaoXr
H$aÊ¶mEodOr ‘mJÀ¶m AmR>dS>çmV nm{H$Q>o IaoXr Ho$ë¶m‘wio ‘YwZo ‘moObobr OmXm a¸$‘ {H$Vr?
1) 132 én¶o 2) 84 én¶o 3) 72 én¶o 4) 60 én¶o

1) Packet of soup that Madhu always buy is usually costs Rs. 13 each. Last week, the prices had been

reduced to Rs. 11 each, so he bought 36 packets. This week they are sold with ‘buy 2 packets, get

another one free’ offer.

Select the more amount that Madhu paid for the packets he bought last week that if he had bought

them this week instead.

1) Rs. 132 2) Rs. 84 3) Rs. 72 4) Rs. 60

2) {Zìdi {dH«$s 25,00,000 én¶o Amho, {dH«$s Ho$coë¶m dñVyMm IM© 18,00,000 én¶o Amho, ‘Owar IM© 3,00,000
én¶o Amho, Va T>mo~i Z’$m .......... amhrc.
1) é. 7,00,000 2) é. 22,00,000 3) é. 4,00,000 4) darcn¡H$s Zmhr

2) Net sales are Rs. 25,00,000, cost of goods sold is Rs. 18,00,000, wages paid is Rs. 3,00,000,

then gross profit will be

1) Rs. 7,00,000 2) Rs. 22,00,000 3) Rs. 4,00,000 4) None of the above

3) Imcrc ‘m{hVrÀ¶m AmYmao ì¶dgm¶mcm Pmcocm T>mo~i Z’$m (gross profit) H$mT>m.
Ama§̂ rMm ‘mcgmR>m é. 20,000, EHy$U IaoXr én¶o 2,00,000, ‘Owar IM© é. 30,000, AIoarMm {e„H$ ‘mcgmR>m
én¶o 50,00, EHy$U ‘mc {dH«$s é. 3,00,000 H$m¶m©c¶ ^mS>o IM© é. 2,000.
1) é. 1,02,000 2) é. 1,30,000 3) é. 98,000 4) é. 1,00,000

3) Find out Gross profit earned by business on the basis of following information. Opening stock

Rs. 20,000, Purchases Rs. 2,00,000, Wages Rs. 30,000, Closing stock Rs. 50,000, Sales Rs.

3,00,000, Office rant Rs. 2,000.

1) Rs. 1,02,000 2) Rs. 1,30,000 3) Rs. 98,000 4) Rs. 1,00,000

4) 1-1-2022 cm "E {c{‘Q>oS>Zo" 10,00,000 én¶m§Mr ZdrZ ‘{eZar IaoXr Ho$cr.
H$§nZrZo ‘{eZar KoVmZm 50,000 é. Mm dmhZ IM© {Xcm.
ZdrZ ‘{eZar ì¶dpñWV R>odÊ¶mgmR>r H§§§§§$nZrZo 75,000 é. ‘Owar {Xcr.
Imcrcn¡H$s ............ aH$‘oda H§$nZr 31-12-2022 ¶m dfm©AIoa Kgmam JUZm H$aoc.
1) é. 10,00,000 2) é. 10,50,000. 3) é. 11,25,000 4) é. 10,75,000

4) On 1-1-2022, A Ltd., purchased new machinery for Rs. 10,00,000.

The company paid carriage expenses for machinery Rs. 50,000.

The company also paid wages for the installation of new machinery Rs. 75,000/-

The depreciation on machinery at the year end of 31-12-2022 will be computed on of the

following......... amounts by the company.

1) Rs. 10,00,000 2) Rs. 10,50,000 3) Rs.11,25,000 4) Rs. 10,75,000
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5) VoarO nÌH$m‘Ü¶o Imcrc ~m~r g‘m{dï> AmhoV.
I) 15% ~±Ho$Mo H$O© é. 4,00,000.
II) à«Ë¶jmV AXm Ho$coco ì¶mO é. 45,000
Va ¶mZwgma Z’$m-VmoQ>m nÌH$m§V ì¶mO ImË¶mda Zmdo (Debit) EHy$U a¸$‘ ........ Agoc.
n¶m©¶r CÎmao …
1) é. 60,000 2) é. 30,000 3) é. 45,000 4) é. 15,000

5) Trial Balance contains the following information :

I) 15% Bank Loan Amount Rs. 4,00,000

II) Actual interest paid Rs. 45,000.

In this case Interest A/c debit to Profit and Loss A/c for total amount

Answer Options :

1) Rs. 60,000 2) Rs. 30,000 3) Rs. 45,000 4) Rs. 15,000

gmYo Am{U MH«$dmT> ì`mO

1) EH$m ì¶º$sZ 4000 én¶m§Mo H$O© 8 hßË¶mV naV Ho$bo d àË¶oH$ hßË¶mV Ë¶m AmYmMr hßË¶mnojm 50 ê$. OmñV {Xbo,
Va n{hbm hám {H$Vr én¶m§Mm hmoVm ?
1) 375 é. 2) 425 é. 3) 325 é. 4) 300 é.

1) A person borrowed a loan of Rs. 4000 and paid back in 8 installments. Each installment is more

than the previous installment by 50 Rs. then what is the amount of first installment he paid ?

1) Rs. 375 2) Rs. 425 3) Rs. 325 4) Rs. 300

2) {ZaOZo gm¶H$c KoÊ¶mgmR>r ~±Ho$H$Sy>Z 6,000 é. Mo H$O© KoVco d 3 dfm©Z§Va ~±Ho$cm 9,240 é. naV H$éZ H$O©‘wº$
Pmcm, Va Ë¶m H$Om©Mm X.gm.X.eo. gai ì¶mOmMm Xa {H$Vr ?
1) 18 2) 16 3) 12.5 4) 20

2) Niraj obtained a loan of Rs. 6,000 from the bank to purchase a bicycle. After 3 years he returned

an amount of Rs. 9,240 and freed from his loan. What is the rate of simple interest p.c.p.a. of that

loan ?

1) 18 2) 16 3) 125 4) 20

3) Oa a‘oeZo EH$m ~±Ho$V 2,000/- Xagmc 6% XamZo 5 dfm©gmR>r Jw§V{dë¶mg Ë¶mg nmM dfm©Z§Va EHy$U {H$Vr a¸$‘
{‘ioc ?
i) gmÜ¶m ì¶mO XamZo ii) dm{f©H$ MH«$dmT> ì¶mO XamZo
n¶m©¶r CÎmao …
1)  (i) 2,600, (ii) 2,676.45 2) (i) 2,550, (ii) 2,766.54

3) (i) 2,800, (ii) 2,345.30 4) (i) 12,000, (ii) 10,600.00

3) If Raresh invested Rs. 2,000/- in a Bank at 6% p.a. for 5 years. Find out the total amount received

by him after 5 years.

i) At Simple Interest Method. ii) At Compound Interest Method (Yearly).

Answer Options :

1) (i) 2,600, (ii) 2,676.45 2) (i) 2,550, (ii) 2,766.54

3) (i) 2,800, (ii) 2,345.30 4) (i) 12,000, (ii) 10,600.00
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4) é. Mo ^{dî`mVrb ‘yë` ‘moOm. 100/- gÜ`m nmM dfmªZ§Va Jw§Vdbobo ì`mO Xa dm{f©H$ 10% Agë`mg........
1) é. 160 2) é. 161 3) é. 165 4) é. 168

4) Calculate future value of Rs. 100/- invested at present after five years if the rate of interest is

10% per annum.

1) Rs. 160 2) Rs. 161 3) Rs. 165 4) Rs. 168

5) dm{f©H$ 6% ì`mOXa Agë`mg 5 dfm©Z§Va 710,000 àmá H$aÊ`mÀ`m A{YH$mamMo dV©‘mZ ‘yë` {H$Vr Amho?
1) é. 6,455 2) é. 7,472 3) é. 7,742 4) é. 8,569

5) What is the Present Value of the right to receive 710,000, after 5 years if the rate of interest is

6% per annum?

1) Rs. 6,455 2) Rs. 7,472 3) Rs. 7,742 4) Rs. 8,569

6) dm{f©H$ {Zìdi dm{f©H$ CËnÞ àmá H$aÊ`mgmR>r Jw§VdUyH$ H$aUo Amdûm`H$ Agbobr ̂ m§S>dbr a¸$‘ é. {d{eï> ì`mO XamZo
1 åhUVmV :
1) qgqH$J ’§$S 2) ^m§S>dbr ‘yë` 3) nwñVH$ ‘yë` 4) dfm©Mr IaoXr

6) The capital sum required to be invested in order to receive a net annual income as an annuity of

Rs. 1 at a certain rate of interest is called :

1) sinking fund 2) capitalised value 3) book value 4) year’s purchase

7) AnKmVm‘wio ‘mb‘ÎmoÀ`m ‘yë`mMo ZwH$gmZ Ago åhUVmV :
1) ^m¡{VH$ Kgmam 2) H$m`m©Ë‘H$ Kgmam
3) AmH$pñ‘H$ Kgmam 4) g§nyU© Kgmam

7) The loss of value of an asset due to accident is called :

1) physical depreciation 2) functional depreciation

3) contingent depreciation 4) absolute depreciation

8) brOhmoëS> ‘mb‘Îmm åhUOo é.Mo {Zìdi dm{f©H$ CËnÞ. nwT>rb 20 dfmªgmR>r 1,00,000. ‘mbH$mbm Ë`mÀ`m ̂ m§S>dbmda
10% naVmdm {‘iÊ`mMr Anojm Amho Am{U ^m§S>db nwZpñW©V H$aÊ`mgmR>r dm{f©H$ 5% da O‘m hmoÊ`mgmR>r qgqH$J
’§$S> hám XoIrb goQ> H$aVmo. dfm©Mr IaoXr (Y.P) 10.567 Ago J¥hrV Yaë`mg ‘mb‘ÎmoMo ‘yë` H$m` Agob?
1) é. 10,56,700 2) é. 1,05,670 3) é. 10,567 4) é. 1,05,67,000

8) A leasehold property is to produce a net annual income of Rs. 1,00,000 for the next 20 years. The

owner expects a return of 10% on his capital and also sets apart a sinking fund instalment to

accumulate at 5% annually to replace the capital. What will be the value of the property if Year’s

Purchase (Y.P) can be assumed as 10.567?

1) Rs. 10,56,700 2) Rs. 1,05,670 3) Rs. 10,567 4) Rs. 1,05,67,000

9) Oa ‘mb‘ÎmoÀ`m {Xboë`m Am ẁî`mgmR>r qgqH$J ’§$S> JwUm§H$ 0.05 Agob Am{U ì`mO Xa 15% Agob, Va dfm©À`m
IaoXrMo ‘yë` Agob:
1) 20 2) 10 3) 5 4) 1/5

9) If the sinking fund coefficient for a given life of the property is 0.05 and the rate of interest is

15%, then the value of the Year’s Purchase will be:

1) 20 2) 10 3) 5 4) 1/5
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10) Oa IaoXr qH$‘V 12,000 Agob Am{U ñH«°$n ‘yë` 3000 Agob Am{U ‘mb‘ÎmoMo Am ẁî` 4 df} Agob Va pñWa
Q> o̧$dmar nÕV dmnê$Z ‘mb‘ÎmoMo dm{f©H$ Kgmam ‘moOm.
1) 2.93% 2) 29.3% 3) 70% 4) 7%

10) Calculate the annual percentage depreciation of a property using the constant percentage method

if the purchase cost is 12,000 and scrap value is 3000 and the life of the property is 4 years.

1) 2.93% 2) 29.3% 3) 70% 4) 7%

11) Oa 2011 ‘Ü ò A eham‘Ü ò O‘mVrMr bmoH$g§»`m 36 Am{U 2021 ‘Ü ò 64 Agob Va 2016 ‘Ü ò A eham‘Ü ò
O‘mVrMr bmoH$g§»`m A§XmOo Amho :
1) 50 2) 48 3) 46 4) 52

11) If the population of a tribe in town A in 2011 is 36 and 64 in 2021, then estimated the population

of the tribe in town A in 2016 is :

1) 50 2) 48 3) 46 4) 52

12) EH$m {d{eï> n[agamMr eodQ>Mr OZJUZm bmoH$g§»`m 1043 Amho. {Xboë`m H$mbmdYrVrb n[agamgmR>r ñWbm§V[aV,
OÝ‘ Am{U ‘¥Ë ỳ S>oQ>m AZwH«$‘o 4, 20, 13 Amho. Oa gÜ`mMr bmoH$g§»`m 1061 Agob, Va ñWbm§V[aVm§Mr g§»`m
Amho :
1) 13 2) 14 3) 15 4) 16

12) The last census population of a particular locality is 1043. The emigrant, birth, and death data for

the locality in a given period are 4, 20, 13, respectively. If the current population is 1061, then

the number of immigrants is :

1) 13 2) 14 3) 15 4) 16

13) {Zdmgr B‘maV é. 1,75,000 IM© H$ê$Z ~m§Ybr Amho. qgqH$J ’§$S>mgh EHy$U AmCQ>JmoB§J é. 11,500 à{Vdf© Amho.
Oa ‘mbH$mbm ~m§YH$m‘mda 5% naVmdm hdm Agob, Va ‘mb‘ÎmoMo EHy$U ‘m{gH$ ^mS>o Amho :
1) é. 30.00 2) é. 1,687.50 3) é. 8,750.00 4) é. 20,250.00

13) A residential building is constructed at a cost of Rs. 1,75,000. The total outgoing including the

sinking fund is Rs. 11,500 per annum. If the owner desires a 5% return on construction, then the

gross monthly rent of the property is :

1) Rs. 30.00 2) Rs. 1,687.50 3)  Rs. 8,750.00 4) Rs. 20,250.00

14) Ooìhm ‘yi ^mS>onÅ>mYmaH$ ‘yi Xamnojm H$‘r ^mS>çmZo brO A§VJ©V ‘mb‘Îmm g~boQ> H$aVmo, Voìhm ^mS>onÅ>rMo ^mS>o hoS> a|Q>
åhUyZ AmoiIbo OmVo:
1) gwYm[aV ^mS>o 2) gwYm[aV ^mS>o 3) gwYm[aV ^mS>o 4) AÚ`mdV ^mS>o

14) When the original lease holder sublets the property under lease at a lower rent than the original

rate, the rent of the lease is known as Head Rent :

1) improved rent 2) modified rent 3) revised rent 4) updated rent
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14) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

AmboI d V³Vo

1) Ñî`Ñï²>`m S>oQ>m àX{e©V H$aÊ`mgmR>r dVw©imH$ma MmQ>© dmnaUmam AmboI åhUyZ AmoiIbm OmVmo :
1) {hñQ>moJ«m‘ 2) ~ma AmboI 3) nmB© MmQ>© 4) dma§dmaVm ~hþ̂ wO

1) A graph that uses a circular chart to display data visually is known as :

1) histogram 2) bar graph 3) pie chart 4) frequency polygons

2) à{VJ‘Z aofm g‘rH$aU x + y = 1 Am{U x —y = 1 ‘Yrb ghg§~§Y JwUm§H$ Amho :
1) 1 2) 1/2 3) 1/4 4) à{VJ‘Z eŠ` Zmhr

2) The correlation coefficient from the regression line equations x + y = 1 and x — y = 1 is :

1) 1 2) 1/2

3) 1/4 4) regression is not possible

3) Imcrc AmcoImdê$Z 2006 Vo 2010 n¶ªV CËnmXZ {H$Vr Q>³³¶m§Zr dmT>co ?

1) 800 2) 600 3) 400 4) 300
3) In following graph, what is the percentage of increase in production from year 2006 to 2010

1) 800 2) 600 3) 400 4)300
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4) gmo~VMo {MÌ XmoZ ^m§S>çm§Mm C^m N>oX XmIdVo. ImbMo ^m§S>o Ðd R>odÊ¶mgmR>r dmnaVmV. daÀ¶m ^m§S>çmVrb Ðd pñWa
JVrZo ImbÀ¶m ̂ m§S>çmV Vo ‘mZoMm Vi ̂ aon¶ªV JiVmo. WmoS>m doi OmD$ {Xë¶mZ§Va nwÝhm daÀ¶m ̂ m§S>çmVyZ ImbMo ̂ m§S>o
nyU© ^aon¶ªV Ë¶mM pñWa JVrZo Ðd JiVmo.

¶m à{H«$¶oMo {ZarjU H$aUmè¶m Mma ‘wbm§Zr ImbÀ¶m ̂ m§S>çmVrb ÐdmMr Imobr d Ë¶mbm bmJbobm doi ¶m§À¶m g§~§YmVrb
~XbmMr nwT>o XmIdbobr AmboIr¶ à{Vê$nUo ñdV§ÌnUo V¶ma Ho$br AmhoV.
{ZarjUmÀ¶m gdm©V Odi AgUmam AmboI nwT>rb n¶m©¶m§VyZ {ZdS>m.

1) 2)

3) 4) 

4) The drawing shows the cross-section of two containers. Lower container is used for storing

liquids. A liquid from upper container trickles down at a constant rate in lower container until the

liquid is at the base of the neck of the container. After a short time lapse, more liquid is allowed

to trickle down at the same constant rate, till the lower container is full.

Four children watching this process, produced following graphical representations to show the

change in relation between depths of the liquid along with the time.
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Select the graph from following options that is most close to the observations.

1)  2) 

3)  4) 

ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

{ÌH$moU

1) Imbrbn¡H$s nm¶W°JmoagMr {ÌHw$Q> {H$Vr AmhoV ?
(9, 40, 41), (3, 4, 6), (8, 15, 17), (5, 12, 17)
1) 1 2) 2 3) 3 4) 4

1) How many Pythagorous triplet are from the following ?

(9,40,41), (3,4,6), (8,15,17), (5,12,17)

1) 1 2) 2 3) 3 4) 4

2) EH$m {ÌH$moUmÀ¶m ~mOy 13 go‘r, 14 go‘r d 15 go‘r, AmhoV Va Ë¶m {ÌH$moUmMo joÌ’$i H$mT>m.
1) 105 Mm¡.go‘r 2) 84 Mm¡.go‘r 3) 91 Mm¡.go‘r. 4) 21 Mm¡. go‘r

2) If length of sides of triangle are 13 cm, 14 cm and 15 cm resp the area of triangle

1) 105sq.cm 2) 84. sq.cm 3) 91sq.cm 4) 21 sq.cm

3) gmo~VÀ¶m AmH¥$VrV aoI {H$aU , Va Mo ‘mn {H$Vr ?

1) 600 2) 800 3) 700 4)$450
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3) In following figure, seg BA || ray CE, then m ZACB =?

1) 60° 2) 80° 3) 70° 4) 45°

Am¶V, M¡H$moZ

1) 50 ‘rQ>a ~mOyÀ¶m Mm¡agmH¥$Vr ‘¡XmZmÀ¶m H$S>oZo àË¶oH$ 5 ‘rQ>a A§Vamda EH$ PmS> bmdë¶mg ‘¡XmZmÀ¶m H$S>obm EHy$U
{H$Vr PmS>o bmdVm ¶oVrb ?
1) 50 2) 44 3) 42 4) 40

1) On each side of a square ground having side 50 meter, trees to be planted at an equal distance of

5 meter. How many trees can be planted on the side of square ground ?

1) 50 2) 44 3) 42 4) 40

2) Am¶VmÀ¶m bJVÀ¶m ̂ wOm§À¶m bm§~rMo JwUmoÎma 5…3 Amho d Ë¶m Am¶VmMo joÌ’$i 29.4 Mm¡. go‘r Amho. Va Ë¶m Am¶VmMr
bm§~r d é§Xr H$mT>m.
1) bm§~r = 7 go‘r d é§Xr = 4.2 go‘r 2) bm§~r = 4.2 go‘r d é§Xr = 7 go‘r
3) bm§~r = 7.2 go‘r d é§Xr = 7 go‘r 4) bm§~r = 4 go‘r d é§Xr = 7.2 go‘r

2) The ratio of sides of rectangle is 5 : 3. If area of rectangle is 29.4 sq.cm, then find the length and

breadth of rectangle

1) length = 7 cm and breadth = 4.2 cm 2) length = 4.2 cm and breadth = 7 cm

3) length = 7.2 cm and breadth = 4 cm 4) length = 4 cm and breadth = 7.2 cm

3) EH$m g‘ ŵO Mm¡H$moZmMo joÌ’$i 990 Mm¡.go‘r Amho. Ë¶mÀ¶m EH$m H$Um©Mr bm§~r 36 go‘r Agë¶mg Xþgè¶m H$Um©Mr bm§~r
H$mT>m.
1) 55 go‘r 2) 27.5 go‘r 3) 110 go‘r 4) 28 go‘r

3) The area of rhombus is 990 Square cm. If length of one diagonal is 36 cm, then find the length of

other diagonal

1) 55cm 2) 27.5 cm 3) 110 cm 4) 28cm

4) Imbrb Am¶Vm‘Ü¶o A AOB Mr n[a{‘Vr {H$Vr ?

1) 8.5 go‘r 2) 17 go‘r 3) 18 go‘r 4) 34 go‘r
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4) In following rectangle, what is & Perimeter of A AOB ?

1) 8.5cm 2) 17cm 3) 18 om 4) 34 cm

5) Imcrc Am¶VmMo {ZarjU H$éZ $∆ ABD. Mr n[a{‘Vr H$mT>m.

1) 36 go.‘r. 2) 30 go.‘r. 3) 24 go.‘r. 4) 17 go.‘r.
5) Observe the following rectangle, find perimeter of ∆ ABD.

1) 36cm 2) 30cm 3) 24cm 4) 17cm

6) Xam§À`m dm{f©H$ {ddaUmV Z‘yX Ho$bobo Xa ~m§Yboë`m joÌmer g§~§{YV AmhoV. Oa BÝñQ®>‘|Q>‘Ü ò H$mn}Q> E[a`mMm C„oI
Agob Va Ë`mMo ‘yë` H$go Agmdo?
1) {~ëQ> An E[a`m = 1.2 x MQ>B© joÌ 2) {~ëQ> An E[a`m = 1.25 x MQ>B© joÌ

3) {~ëQ> An E[a`m = H$mn}Q> E[a`m 4) {~ëQ> An E[a`m = H$mn}Q> E[a`m
                          1.2                            1.25

6) The rates stated in the Annual Statement of Rates pertain to the built up area. If the instrument

mentions carpet area, how should it be valued?

1) Built up area = 1.2 x Carpet area 2) Built up area = 1.25 x Carpet area

3) Built up area = Carpet area 4) Built up area = Carpet area

                                 1.2                                     1.25
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7) EH$ g§b¾ O‘rZ, 2.5 hoŠQ>a EdT>r Amho, ‘§Oya àmXo{eH$ `moOZoÀ`m H¥$fr PmoZ‘Ü ò {Z{üV Ho$br Amho Am{U dm{f©H$
{ddaUnÌmV (Xa ASR) g§̂ mì` {~JaH¥$fr joÌm‘Ü ò ̀ oVo. Cº$ O{‘ZrgmR>r ASR ‘Ü ò {Xbobo Xa é. 1,500 à{V ‘r2

Am{U. é. 40 bmI à{V hoŠQ>a. gm§{JVboë`m 2.5 hoŠQ>a O{‘ZrMr EHy$U qH$‘V emoYm Á`mda ‘wÐm§H$ ewëH$ Xò  Amho.
1) 3128 bmI 2) 2158 bmI 3) 2178 bmI 4) 2198 bmI

7) A contiguous land, admeasuring 2.5 ha, is earmarked in the Agricultural Zone of the sanctioned

Regional Plan and is falling in the probable Non-Agricultural Zone in the Annual Statement (of

Rates ASR). The rates given in the ASR for the said land are Rs. 1,500 per m2 and. Rs. 40 lakh per

ha. Find the total value of the said 2.5 ha land on which the stamp duty is payable.

1) 3128 lakh 2) 2158 lakh 3) 2178 lakh 4) 2198 lakh

15) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb àíZ

KS>çmi

H°$b|S>a

1) Oa EH$m dfm©Vrc 25 {S>g|~acm a{ddma Amho Va Ë¶m ‘{hÝ¶mV {H$Vr e{Zdma AgVrc ?
1)  4 2) 5  3) 6 4) darcn¡H$s Zmhr

1) If 25th December in a year is on Sunday, then how many Saturdays are there in that month ?

1) 4 2) 5 3) 6 4) None of the above

d`

1) dS>rc ho AmB©nojm 6 dfmªZr ‘moR>o AmhoV d AmB©Mo AmOMo d¶ ‘wcrÀ¶m d¶mÀ¶m {VßnQ> Amho. ‘wcrMo AmOMo d¶ 12 df©o
Amho, Va ‘wcrÀ¶m OÝ‘mdoir d{S>cm§Mo d¶ H$m¶ hmoVo.
1) 30 df|© 2) 32 df©o 3) 42 df©o 4) 36 df©o

1) Father is 6 years older to mother and mother’s today’s age is thrice the age of the daughter.

The daughter is now 12 years old, what was the father’s age when the daughter was bom ?

1) 30 yrs. 2) 32yrs. 3) 42 yrs. 4) 36 yrs.

2) EH$ ‘mUyg AmVm Ë¶mÀ¶m ‘wbmÀ¶m d¶mÀ¶m {VßnQ> d¶mMm Amho. 12 dfm©nydu Vmo Amnë¶m ‘wbmÀ¶m d¶mÀ¶m 4 nQ> d¶mMm
hmoVm. Va ‘wbJm AmVm {H$Vr dfm©Mm Amho ?
1) 40 2) 30 3) 45 4) 36

2) A man is now three times as old as his son. 12 years ago he was four times as old as his son. How

old is son now ?

1) 40 2) 30 3) 45 4) 36
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{Xem{ZX}e

1) ¶e CÎmaoH$S>o 5 {H$‘r MmcV Jocm, §Z§Va COdrH$S>o diyZ 8 {H$‘r Jocm, nwÝhm COdrH$S>o diyZ 3 {H$‘r Jocm Am{U nwÝhm
COdrH$S>o 5 {H$‘r OmD$Z S>mdrH$S>o diyZ 2 {H$‘r Joë¶mg, ¶e gwédmVrÀ¶m {R>H$mUmnmgyZ {H$Vr A§Vamda Amho ?
1) 23 {H$‘r 2) 19 {H$‘r 3)21 {H$‘r 4) 3 {H$‘r

1) Yash travels to the North 5 km, turns right and travel 8 km and then turns right and cover 3 km and

then again turns right travel another 5 km and then turns left and travel 2 km. How far is Yash from

the starting point ?

1) 28 km 2) 19 km 3) 21 km 4) 3 km

2) OVrZ EH$m CÚmZmV Z¡F$Ë` {Xeobm C^m Amho. Ë`mZ§Va, Vmo 1350 ‘Ü¶o KS>çmimÀ`m H$mQ>çm§À¶m {déÕ {XeoZo diVmo,
Ë`mZ§Va 900 KS>çmimÀ`m H$mQ>çm§À¶m {déÕ {XeoZo diVmo. Ë`mZ§Va, Vmo 2250 ‘Ü¶o KS>çmimÀ`m H$mQ>çm§À¶m {XeoZo
diVmo, Ë`mZ§Va AmUIr 1350 KS>çmimÀ`m H$mQ>çm§À¶m {déÕ {XeoZo XeoZo diVmo. ‘J, Vmo eodQ>r 450 KS>çmimÀ`m
H$mQ>çm§À¶m {déÕ {XeoZo CbQ> {XeoZo diVmo. Vmo AmVm H$moUË`m {Xeobm Amho?
1) CÎma 2) B©emÝ` 3) Am¾ò 4) X{jU

2) Jatin is standing in a park facing southwest. Then, he turns 135° anticlockwise, followed by a 90°

anticlockwise turn. After that, he turns 225° clockwise, followed by another turn 135°

anticlockwise. Then, he finally turns 45° anticlockwise. Which direction is he facing now?

1) North 2) Northeast 3) Southeast 4) South

______
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1) g§»¶m Am{U dU©‘m{bH$m
1-4 2-2 3-4 4-4 5-x 6-x

7-2 8-1 9-2

2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU

gm§Ho${VH$ ^mfm

1-4 2-1 3-1 4-1 5-x 6-x

7-3 8-2 9-x 10-3

 gmå¶, VwbZm, dJuH$aU

1- 2-2 3-2 4-1

3) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$,
n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

‘erZ BZnwQ Am{U {MÝho

1-x 2-2 3-x 4-3 5-x

S>oQ>m g{’${g¶Ýgr/nwaoer gm‘J«r

1-x 2-4 3-3 4-4

J{UVr` VH©$, Hy$Q >àíZ

1-4 2-x 3-2 4-1

n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

1-4 2-3 3-4 4-1

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV

4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U
J¥{hVHo$, {dYmZo Am{U {ZîH$f©

{dYmZo Am{U ẁ{º$dmX

1-2 2-4

{dYmZo Am{U J¥{hVHo$

1-1 2-x 3-4

{dYmZo Am{U {ZîH$f©

1-x 2-1 3-2

5) ~¡R>H$ d ‘m§S>Ur ì`dñWm

~¡R>H$

1-1 2-x 3-x 4-x

‘m§S>Ur ì`dñWm

1-4 2-1

6) ZmVog§~§Y
1-3 2-3 3-3 4-x 5-x 6-x

7) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ

1) AmH¥$VtMr g§»¶m

1-2 2-2
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2) H«$‘nyVu

1-2

3) KS>r, Amagm, Obà{V‘m

1-1

4) KZmdarb àíZ

1-1

5) doZ AmH¥$Vr

1-4

8) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi
Am{U KZ‘yi

g§»`màUmbr

1-2 2-2

bgm{d, ‘gm{d

1-4 2-2

dJ©‘yi Am{U KZ‘yi

1-3 2-2 3-x

9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma,
Xem§e AnyUmªH$

1-4 2-2 3-4 4-4 5-4

10) Q>̧ o$dmar, doZ AmH¥$Ë`m§darb g‘ñ`m,
gamgar, g§̂ mì`Vm

 Q> o̧$dmar

1-3 2-x 3-x

doZ AmH¥$Ë`m§darb g‘ñ`m

1-x 2-4

gamgar

1-3 2-4 3-x 4-x 5-x 6-x

7-x 8-x

g§^mì`Vm

1-x 2-x 3-x 4-x 5-x

H«$‘M¶

1-x 2-x

11) JwUmoÎma Am{U à‘mU, ^mJrXmar,
{‘lU, gmIir {Z`‘, H«$‘

JwUmoÎma Am{U à‘mU, ^mJrXmar

1-2 2-1 3-2 4-1

{‘lU, gmIir {Z`‘

1-2 2-2 3-x 4-x

H«$‘

1-3 2-4 3-1 4-3 5-x

12) doi Am{U A§Va,aoëdo, ~moQ> Am{U
Obàdmh, H$mi Am{U H$m‘

doi Am{U A§Va, aoëdo

1-3 2-3 3-4 4-1 5-2 6-1

Q>mH$s / hm¡X, ~moQ> Am{U Obàdmh

1-1 2-2
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H$mi Am{U H$m‘

1-2 2-4 3-1

13) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr,
gmYo Am{U MH«$dmT> ì`mO

Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr

1-2 2-1 3-4 4-3 5-1

gmYo Am{U MH«$dmT> ì`mO

1-3 2-1 3-1 4-2 5-x 6-x

7-x 8-x 9-x 10-x 11-x 12-x

13-x 14-x

14) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U
n[a{‘Vr

AmboI d V³Vo

1-x 2-x 3-3 4-3

ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

{ÌH$moU

1-2 2-2 3-1

Am¶V, M¡H$moZ

1-4 2-1 3-1 4-3 5-2 6-x

7-x

15) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ
AmH¥$Ë`m§darb àíZ

KS>çmi

H°$b|S>a

1-2

d`

1-1 2-4

{Xem{ZX}e

1-4 2-x


